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1. .B#$022!/์�2/*1�%2 O2%คB�,2*ช?/>!
1.1 O%/#2��2/*1�%2�2/2N�N2/>-�2/�1 �2/�>��//-#2��2/0@�12#1Q�Q%Oล0%1�/0&&

2558 2559 2560

(&2#) (&2#) (&2#)

1 Pค%��6%16/6%�'6�/5� N AP1Q/O�5�N%?$�Q�N�� 2�5�2�B����%4#6� 4,800,000     4,800,000    4,800,000     %O1$'4�1��5�N%?$� �5�N%?$�#?2B�"6 �? �1��6%0@�16

(P%�N%?$�25��5�2 �.) N�0�6'#?16/6%�'6� N AP1�5�/616/6%�?P#? (N�>�1B�/�B�) (N�>�1B�/�B�) (N�>�1B�/�B�) �'BN#N�C6/#6$�?PR�O '�15�%6�5�N%?$��6�

/5��?P�C�2B�'5�1�4 #? คB�คN6�6�P"��6�6% %5�16/6%�'6�/5��?P 26%16/6%Q�P%�N%?$�

คB�คN6�6�P"��6�6% O�N�%.25��5�2 �.Q� �C�2B�'5�1�4

N��N�0�6'

2 Pค%��6%16/6%N2%>#(�#) N AP1Q/O�5�N%?$�Q�N�� �5��AQ1�#Q/OO�N�O�N'O� 1,807,400 1,807,400 1,807,400 %O1$'4�1��'BN#N�C6 �5�N%?$�O'4N�O�N'O� �1��6%0@�16

(0 �.N�0�6'3,P%�N%?$�25��5�2 �.) N�0�6'R�O�%>P"ค�# O'4�5�N%?$�Q�0 �., (N�>�1B�/�B�) (N�>�1B�/�B�) (N�>�1B�/�B�) /#6$�?PR�O%5��#2� R�O�AP#�#2��B�/5�

2��B�/5� P%�N%?$�
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Pค/��2//�>��//-#?P

/2.ล0N1?. Pค/��2/*1�%2
O(%*1�%222-'ี (*.0.2558 - 2560)

N#0&2ล! 2&ล/N1%*>&Cล.์

N'O2/-2. ((ล(ล>!
�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI) (ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&
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(&2#) (&2#) (&2#)

3 Pค%��6%2�5�2�B�คN6Q�O�N6$Q��6% N�O�N'O�Q�0 �.R�O N�O�N'O�Q�0 �.R�O 364,000     364,000    364,000     %O1$'4�1��'BN# N�O�N'O�Q�0 �.#?2B� �1��6%0@�16
�%>/6%2�6�0@�16 �%>P"ค16/6%�'6� �%>P"ค16/6%�'6� N�C6/#6$�?PR�O%5� "6 �? '�15�%6�6%

/5��?P�C�2B�'5�1�4 /5��B�ค� 16/6%�'6�/5��?P �6�26%16/6%
#?คB�คN6�6�P"��6 �C�2B�'5�1�4
�6%

4 Pค%��6%�5��>��%%#N�O6คN6$ 5�O%# N AP12N�N2%>#Q/ON�O� �5��>��%%#คN6$ 5� 100,000 100,000 100,000 %O1$'4�1��'BN# N�O�O'4N$6/��N�>� �1��6%0@�16
N$6/�� O'4N$6/��#?�5�14 O%#Q/ON�O�O'4N$6/ N�C6/#6$�?PR�ON�O6 �6%N%?$�%CO R�O%5�

Q��6%�U6%��?/>� ��Q�N��N�0�6' %N/#�>��%%# �%42��6%�RO'4#?
26#6%��%5��5/Q/O N�O6%N/# �5�14Q��6%�U6N�>�
N�O6�5�25�ค#R�O1$N6� �?/>�#6��@Q�
#?ค/6#2B�

5 Pค%��6%2N�N2%>#�5�14�6�/>�6�6% N AP1Q/ON�O�O'4N$6/ �5��O6��Bค'6�% 270,000 270,000 270,000 %O1$'4�1��'BN# �CON�O6%N/#Pค%��6% �1��6%0@�16
��#?ค/6#N�?P$/�6� 21��5�14�6�/>�6 N�C6/#6$�?PN�O6%N/# �N6��6%21�/5��'
�5�14�6�/>�6�6% �6% O'4�'�6%21�3 �%4N#>�/'5�N%?$�

6 Pค%��6%21�"616�?� N AP1Q/O�CO%N/#Pค%� �5�Q/O#?�6%21�"6 50,000 50,000 50,000 %O1$'4�1��'BN# �CON�O6%N/#Pค%��6% �1��6%0@�16
�6%N%?$�%CO"616�?� 16�?�O�N�CO2�Q� N�C6/#6$�?PN�O6%N/# 26#6%�N�O6Q�"616
O'4Q�ON/'6/N6�Q/O O'O/N�>�ค/6#N�O6 �?��5Q� AQ��6�R�O
N�>��%4P$��R Q�"616�?� AQ��6�
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7 Pค%��6%ค6%6/6�N2%>#2%O6��%42� N AP1N�>�P'��50�R �5�Q/O#?�>��%%# 43,000       43,000     43,000      %O1$'4�1��'BN# N�O�NR�O%CO�5�2�6��?P �1��6%0@�16
�6%�RN�O� 2%O6�ค/6#25# 5��R �50�0@�16O�Nค%C N�C6/#6$�?PR�ON�O6 2U6ค5�O'4N�>�ค/6#

�?P�?�N1�5�%4//N6� N�O�N'O�O'4ค�4 %N/#�>��%%# 25# 5��R�?P�?�N1�5�%4
N�O� �CO��ค%1�O'4 �%%#�6%2�6� //N6�N�O� ค%C �%%#
ค%C 0@�16 �6%2�6�0@�16

8 Pค%��6%�%4�B#�CO��ค%1� N AP1N2%>#2%O6�ค/6# �CO��ค%1�N�>�ค/6# 8,000        8,000       8,000        %O1$'4�1��'BN# �CO��ค%1�N�O6Q��� �1��6%0@�16
25# 5��R15��?%4//N6� N�O6Q��6%�U6N�>� N�C6/#6$�?PR�ON�O6 %4N�?$��N6� N �1�
�CO��ค%1�O'4ค%C �6�O'4�>��%%# %N/#�>��%%# 0 �.

�6%N%?$��6%21�
�1�0 �.

9 Pค%��6%�O6� /5� P%�N%?$�%N/#Q� N AP1�'C��T�คB��%%# #?�>��%%#ค/6#%N/# 50,000       50,000     50,000      %O1$'4�1��'BN# �CO%N/#�>��%%#N�>� �1��6%0@�16
��>�5�>�%%# �%>$�%%#O�NN�O�O'4 #A1%4//N6��O6� /5� N�C6/#6$�?PR�ON�O6 �6%N%?$�%CO 26#6%�

N$6/�� 2%O6�ค/6# P%�N%?$� 1$N6��O1$ %N/#�>��%%# �U6/'5��%%#R��%4
N�O#O�O��O6�0?'�%%# 1 �>��%%# N�N� $B��RQ�OQ��?/>��%4
O�NNค%A1�N6$�O6� /5� N�O6/5��B�N�A1� �U6/5�R�O1$N6�N/#64
P%�N%?$� 2#
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10 0C�$R 5��6N�O�N'O�%N/#�>��%%#Q�/5�2U6 N AP12N�N2%>#Q/ON�O�R�O N�O�N'O�Q�0 �.3R�O 10,000       10,000     10,000      %O1$'4�1��'BN# N�>��6%1�B%5�O'4 �1��6%0@�16
ค5��6� %4 B��062�6 %CO�5�/5�2U6ค5��6� N�O6%N/#�>��%%#Q� N�C6/#6$�?PR�ON�O6 2A�26��%4N �?15�

062�6O'4�%4/5�> /5�2U6ค5��6� %4 %N/#�>��%%# �?�6#
ค/6#N�O�#6  B��062�6

11  5��6ค%C�CO�CO'N�O�N'O� N AP1Q/Oค%CR�ON%?$�%CO ค%C�CO�CO'N�O� �U6�/� 6,000        6,000       6,000        �U6�/�ค%5Q��1� ค%CN�>��6% 5��6 �1��6%0@�16
2>P�Q/#NNO'4 5��6 3 ค� (N�>�1B�/�B�) (N�>�1B�/�B�) (N�>�1B�/�B�) �6%N�O6%N/#1�%# �6%N%?$��6%21�
��N1�Q/O�?$>P��@Q�  5��6ค/6#%CO/�?

12 2N�N2%>#คB��%%#�%>$�%%#O�NN�O�N'O� N AP1�'C��T�คB��%%# N�O�N'O�Q�0 �.3 8,000        8,000       8,000        %O1$'4�1��'BN# N�O�N'O�#?คB��%%# �1��6%0@�16
�%>$�%%#O�NN�O�N'O� �U6�/� 64 ค� #? N�C6/#6$�?PR�ON�O6 �%>$�%%# 26#6%�
Q�0 �.3 คB��%%#�%>$�%%# %N/#�>��%%# �U6R��%5�Q�OQ��?/>�

�%4�U6/5�R�O
13 Pค%��6% 5��6�CON%?$� N AP1Q/ON�O�#?ค/6#25# N�O�N'O�%N/#�>��%%# 20,000       20,000     20,000      %O1$'4�1��'BN# N�O�N'O�N�>��6% �1��6%0@�16

 5��R15��?�5��CO1AP� �?PN�0�6'O'4�B# N�C6/#6$�?PR�ON�O6  5��6�6%N%?$�%CO
O'4N�>�ค/6#2�B� ���5��@Q� %N/#�>��%%# �O6��N6� N 
2�6�N '>�N '>�

4
8

#?P Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI) (ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&



2558 2559 2560

(&2#) (&2#) (&2#)

14 Pค%��6%�O6�N/#6�Bค'6�%N�O� �5��6� N AP1Q/O0 �.#?ค/6# ��>�5�>/�O6�?P%5�16 79,200       79,200     79,200      %O1$'4�1�ค/6# 0 �.R�O%5��6%�CO' �1��6%0@�16
%5�16ค/6#�'1�"5$�%4�U60 �. �'1�"5$ ค/6#�'1�"5$%4  @� 1Q��1��COค/� �O6�ค/6#�'1�"5$

//N6�N/'6 16.30 - คB#�6��N1%6$�6� 1$N6�#?�%42>��>"6 
 08.30 �. �'�6%��>�5�>�6�

15 Pค%��6%�O6�N/#6�Bค'6�%N�O�O#N�O6� N AP1Q/O#?�CO��>�5�>/�O6 ��>�5�>/�O6�?P�5� 79,200       79,200     79,200      %O1$'4�1�ค/6# 0 �.#?ค/6#2416� �1��6%0@�16
�%4�U60 �. �?PO#N�O6��%4�U60 �. N�%?$# �5�N�O� �CO'  @� 1Q��1��CO O'4N�O�%4N�?$�

O'4�U6ค/6#2416� ค/�คB#�6��?P#? N%?$�%O1$
Nค%AP1�ค%5/�'1��� �N1%6$�6��'
/52�B 1B��%�R�N6�N �6%��>�5�>�6�

16 Pค%��6%�O6�N/#6�Bค'6�%N�O�O#Nค%5/ N AP1Q/O#?�CO��>�5�>/�O6 ��>�5�>/�O6�?P�%B� 79,200       79,200     79,200      %O1$'4�1�ค/6# �6%�%B�16/6%�1� �1��6%0@�16
�%4�U60 �. �?PO#Nค%5/�%4�U60 �. 16/6%O'4�U6ค/6#  @� 1Q��1��CO 0 �.2416�O'4�C�

2416�/O1�ค%5/ ค/�คB#�6��?P#? 2B�'5�1�4
�N1%6$�6��'
�6%��>�5�>�6�

4
9
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17 Pค%��6%�O6�N/#6�Bค'6�%N�O�O#N�O6� N AP1Q/O#?�CO��>�5�>/�O6 ��>�5�>/�O6�?P�CO' 79,200       79,200     79,200      %O1$'4�1�ค/6# "6$Q�O'4�%>N/� �1��6%0@�16
�%4�U6�1��6%0@�16 �?PO#N�O6��%4�U6�1� �U6ค/6#2416�"6$  @� 1Q��1��CO %1�N �1��6%0@�16 

�6%0@�16 Q�O'4�%>N/�%1�N ค/�คB#�6��?P#? #?ค/6#2416�
16ค6%2U6�5��6� �N1%6$�6��'
�1��6%0@�16O'4 �6%��>�5�>�6�
�CO'%5�16ค/6#2416�

�1�/52�B1B��%�R�N6�N

O'4�6�1AP�N�1�
�1��6%0@�16
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2558 2559 2560

(&2#) (&2#) (&2#)

1 Pค%��6%1�%#�50�0@�16�C�6��1��CO N AP1N�O��6%2%O6�N2%># �5�1�%#�CO�%4�1� 100,000     100,000    100,000     %O1$'4�1��'BN# �CO�%4�1��6%%O6� �1�26�6%�2B�3
�%4�1��6%%O6�16/6% �%42��6%�R�6% 5� �6%%O6�16/6%O'4 N�C6/#6$�?PR�ON�O6 16/6%N�>��%4�/�

�616�? �1��CO�%4 N�O6/�O6�?P�?PN�?P$/�O1� %N/#�>��%%# �6%N%?$�%COQ��6% 5�

�1��6%%O6�16/6% �6�6�26�6%�2B�Q�

#6 5��6O'4�%5� �B#��O'42%O6�N2%>#

�%B��'6�2�N�0�6' �%42��6%�RQ��6%
Q/ON�O��'6�2��N6�AQ1  5��616�? �'1���

N2%>#2%O6��%42��6%�R

�1�N�O6/�O6�?P�CON�?P$/�O1�

2 Pค%��6%�5��6�/5�16262#5ค%26�6%�2B� N AP1N�O��6% 5��6O'4  -�5�1�%#12#.Q� 60,000       60,000     60,000      %O1$'4�1��'BN# 12#.N�>�ค/6#%CO �1�26�6%�2B�3
N2%>#2%O6��5�14O�N N����.%N1� >�C'$R N�C6/#6$�?PR�ON�O6 ค/6#N�O6Q�Q��6�
12#.Q��B#��Q��6%  - �5��50�0@�16�C %N/#�>��%%# �O6�26�6%�2B�O'4

#?2N/�%N/# 5��6�B#�� �6�N >P#�5�14O'� ค1$�%426�N�AP1#P$�

Q/O#?ค/6#N�O#O�O�26 N�'?P$��%42��6%�R �5�Nค'AP1��6�26�6
#6%��N/$N/'A1��N1�  - %�%�คR2N�N2%># %�2B�Q/O�%%'B
ค%1�ค%5/ �B#�� 25�ค# ��2.�>��%%#15�N�O� N�C6/#6$R�O

�%4P$��R�N1�B#��

5
1

(ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&
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3 Pค%��6%N2%>#2%O6�05�$"6 16262#5ค% N AP1Q/O12#.#?ค/6#%CO �5��%4�B#O'4�@� 50,000       50,000     50,000      %O1$'4�1��'BN# 12#.#?ค/6#%COค/6# �1�26�6%�2B�3
26�6%�2B�1$N6��N1N�AP1�O'4$5P�$A� ค/6#N�O6Q�Q��6% 1�%#12#.1$N6��N1 N�C6/#6$�?PR�O%N/# N�O6Q�O'426#6%�

��>�5�>�6�#6�$>P��@Q� N�AP1� �>��%%#O'O/#? �U6ค/6#%CO�?PR�OR� 5�
O'426#6%��U6ค/6# ค/6#%CON >P#�@Q�/26 �6�B#��R�O1$N6�#?
%CO�?PR�OR���>�5�>�6�Q� #6%��N6$�1�R�O �%42>��>"6 
�B#��R�O1$N6�#?�%4
2>��>"6 

4 Pค%��6%1�%# �50�0@�16�C�6��1� N AP1Q/O12#.�U6ค/6#%CO�U6ค�412#.�CO�%>/6% 600,000     600,000    600,000     %O1$'4�1��'BN# 12#.N�>��%4�/� �1�26�6%�2B�3
16262#5ค%26�6%�2B��%4�U6/#CN�O6� �?PR�O�6��6%�50�0@� 2�.  �5��6�N�0�6' N�C6/#6$�?PR�O%N/# �6%N%?$�%COQ��6%
(12#.) 16�C�6�#6�%5�Q�O  �5��6��O6� 'C��O6� �>��%%#O'O/#?  5��6�6�26�6%�

O'4 5��6�6�26�6 R��50�0@�16�C�6� ค/6#%CON >P#�@Q� 2B�Q��B#��O'4
%�2B�Q��B#��Q/O#? �1�2�6��?PN AP1�U6 2%O6�N2%>#�%42�
�%42>��>"6 #6�$>P� ค/6#%COO'4�%42� �6%�RQ��6% 5��6
�@Q� �6%�R�?PR�O#6�%4 16�?  O'4N�O��6%

$B��RQ�O�5��6��1� N2%>#2%O6��%42�
��N1�R�O1$N6� �6%�RO�NN�O6/�O6�?P
N/#642# �?PN�?P$/�O1�
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5 Pค%��6%�C1��5�O'4ค/�คB#P%ค >1  -N AP1�C1��5�O'4ค/�   �?�$6คB#�U6N�>� 50,000       50,000     50,000      �U6�/�2B�5� O#/ �%4�6��R�O%5�ค/6# �1�26�6%�2B�3
2B�5��O6 คB#P%ค >12B�5��O6 /5ค�?��C1��5�P%ค O'425�/R1AP�N�?PR�O �'1�"5$�6�P%ค

 -N AP1ค/�คB#�%4�6  >12B�5��O6 �U6/#5� N�O6%5��6%�5�/5ค�?� �>��N1
�%2B�5�O'4O#/ O�N2B�5� O#/O'4

25�/RN'?Q$�'C��O/$�#
Q�N��N�0�6' 3

6 Pค%��6%�C1��5�O'4ค/�คB#P%คR�O  -N AP1'�15�%6�6%  -Q/O2B�0@�16 ��2. 50,000       50,000     50,000      �U6�/��CO�B/$�O/$ �%4�6���'1��6� �1�26�6%�2B�3
N'A1�11� �B/$O'4�6$�O/$P%ค %�%�คRN%AP1��6%�C1� P%คR�ON'A1�11� P%ค�>��N1�?PN�O�

R�ON'A1�11� �5�P%คR�ON'A1�11� Q�N��N�0�6' 15��%6$
 -N AP1�C1��5�O'4 O�N�%.�0.�%4�6��

ค/�คB#O/'N�N 64  - N�26%Nค#?�U6�5�
 5��BR$B�'6$ 'C��QU6$B�'6$O'4

O���%6$14N��
 -�'>�2AP1N AP1�6%
N�$O %N �%4�625#
 5��R

5
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(&2#) (&2#) (&2#)

7 Pค%��6%2�5�2�B��6%�U6N�>��6��1� N AP1N�O�0C�$R%/#ค/6# �U6N�>��6%2�5�2�B� 180,000     180,000    180,000     �U6�/�Pค%��6% �%4�6��Q��B#�� �1�26�6%�2B�3
0C�$R26�6%�2B�#C'�6��B#��(02#�.) ค>�2%O6�2%%25�ค#�O6� �6%��>�5�>�6��1� �1�12#.Q�N�� %5�%CO�T�/6O'4O�OR�

26�6%�2B�#C'�6� 02#�.Q�N��N�0�6' N�0�6'3 �T�/6R�O #?2B�"6 
%4//N6��6/�B#�� R�O �U6�/� 12 �B#�� 1�6#5$O'4ค/6#
%5��%6��T�/6 ค/6# N�O�1$CN�?P�?�@Q�
�O1��6%�1��%4�6��

N AP1�U6R�O�OR� O'4
N AP1Q/O�%4�6��Q�
�B#��R�O%5��6%%5�16
 $6�6'N�AQ1��O�

8 Pค%��6%�'>�2AP1N AP1Q/O�6%2B�0@�16 N AP1Q/Oค/6#%CO 2%O6�  -�5��U6N1�26%คCN#A1 100,000     100,000    100,000     %O1$'4�1��%4�6�%4�6��R�O%5�ค/6# �1�26�6%�2B�3
�%4�625# 5��RN�?P$/�5��6%26�6%�2B� �50�ค�>�?P�?Q��6%�C O�N� 5� P�2N�1%R ���?PR�O%5�O��2AP1 %COO'426#6%��U6#6
O'42>P�O/�'O1# O'2B�"6 1�6#5$�?P R/�>' /�5�2A1 N�� �5��'N6/ Q�O�CO'2B�"6 1�6

N/#642# O'4�U6R� �?�?3'3N�?P$/�5�2B� #5$��N1� %CO�5��C1�
�%5�Q�OQ��6%�U6%� "6   '6�6#5$ �5�P%ค1$N6�N/#642#

�?/>�R�O1$N6�#?คB�"6 �6%�C1��5�P%คO'4 #?2B�"6 1�6#5$O'4

�6%�5��6%2>P�O/� คB�"6 �?/>��?P�?�@Q�
'O1#
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(&2#) (&2#) (&2#)

9 Pค%��6%2N�N2%>#�6%O �$RO��R�$ N AP1N�O��6%O �$R �5�1�%#"6ค�&1�? 30,000       30,000     30,000      %O1$'4�1��'BN# �%4�6��R�O%5��6% �1�26�6%�2B�3
�6�N'A1�O�N�%4�6�� O'4��>�5�>O�N2#6�>� N�C6/#6$�?PR�ON�O6 �%>�6%2N�N2%>#2B�
O'42N�N2%>#�6%�U6N�>� �#%#�/�O��R�$, %N/#�@�1�%# "6 �O/$�6�O �$R
�6��O6�O �$RO�� �#%#2N�N2%>#�'>� O��R�$�?P#?คB�"6 
R�$Q/OR�O#6�%�6� "5��RO �$RO��R�$, O'4R�O#6�%�6�
�6#N���R�?P�U6/�� �5/O���CO�U6�B#��

O'4�%4�6���CO2�Q�

10 Pค%��6%16/6%�'1�"5$ N AP1�%/�21�26%�� %O6��U6/�N6$16/6% 100,000     100,000    100,000     %O1$'4�1��'BN# %O6��U6/�N6$16/6% �1�26�6%�2B�3
(Food Safety) N�AQ1�Q�16/6%�?P�U6 2�,%O6�16/6%,O�� N�C6/#6$�?P�%/� R�O%5��6%�%/�/6

/�N6$Q��'6�2�N�0 '1$�U6/�N6$16/6%,  �26%��N�AQ1� 26%��N�AQ1� �%4�6

�6' 3 8 ��>� �5��?Q P%�16/6%,/5�Q�N�� N�>�N���R#6�% ���CO�%>P"ค26#6%�

 -�1O%��R -!1%R#6'>� N�0�6' 3 �6� N'A1��AQ116/6%�?P
 -26%�5�%6 -$6�N6O#'� �%60�6�26%��
 - 26%!1��6/ N�AQ1�P�$�C�6��C6$

 - �QU6#5��1��QU6 25�'5�1�R16/6%
 - 15'!6�1��>� �'1�"5$
 - 26%N%N�N�AQ1O��
 - SI2

5
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(&2#) (&2#) (&2#)

11 Pค%��6%11��U6'5��6$N AP12B�"6 N AP1N2%>#2%O6�2B�"6 �5��O6��CO�U6N�O� 50,000       50,000     50,000      �U6�/��%4�6�� �%4�6��#?2B�"6 �1�26�6%�2B�3
�?PO�O�O%�O�N�%4�6�� O1P%�>� �U6�/� �?P#6%N/#�>��%%# O�O�O%� '�15�%6
O'42N�N2%>#Q/O�%4�6 1 ค� N�O�O1P%�>� �6%N�O��B/$
��Q�N��N�0�6'%N/#

�5�11��U6'5��6$�O/$

�6%N�O�O1P%�>�N�O�
�%4�U6

12 2#��N�>�O�N�1��B�/'5��%4�5�2B�"6 N AP1Q/O�%4�6��Q� 2#��N�>�O�N�1��B� 360,000     360,000    360,000     �U6�/�Pค%��6% �%4�6��#?/'5��%4 �1�26�6%�2B�3
Q�%4�5��O1��>P� �O1��>P�#?/'5��%4�5� /'5��%4�5�2B�"6 �?P�U6N�>��6%�6� �5�2B�"6 �?P�?

2B�"6 �?P�? �6#/'5�N���R�?P ���%4#6��1�
�U6/�� �1��B�3

13 �%5��%B�16ค6%N1���%42�คR�B#��N�O� N AP1Q/O�B#��#?2�6� �U6N�>��6%  - 200,000     - �U6�/��%4�6�� �%4�6��#?2�6��?P �1�26�6%�2B�3
0C�$R02#�.(N2�1P�$�B#���O6��'6�Q� �?PQ/O�%>�6%�O6�26�6  -�N11>��6��C�6�B� �?P#6Q�O�%>�6% %5��%>�6%�O6�
�6�N%?$/) %�2B�O�N�%4�6��  -�62? 6 �B� 26�6%�2B�N�AQ1��O�

Q��B#��O'4�%>N/�  -�>��6�N6$��5�6�B�

Q�'ONค?$�  -�%4�CN/'O��6�N6$

1 �B�
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1.3 O%/#2��2/*1�%2/0&&�2%2/12 >�2/21�ค-N*AP12�Nค/20/์(CO O1.P1�22Q%ชB-ช%

2558 2559 2560

(&2#) (&2#) (&2#)

1 2�Nค%64/Rค��%6 �CO >�6% �CO�B/$N1�2R N AP1Q/Oค��%6 �CO >�6% Q/O�6%2�Nค%64/R�B� %O1$'4�1��CO�B/$ �CO�B/$N1�2R �CO >�6% 2�.

O'4�CO�B/$N1�2RR�O%5� N�A1�O�N -�CO�B/$N1�2R 120,000     120,000    120,000     N1�2R �CO >�6%O'4 O'4�CO2C�16$BQ�N�� (�6� 5��6�B#��)

2/52�>�6%�6#�P$�6$          -ค��%6 1,172,900  1,172,900 1,172,900  �CO2C�16$B�?PR�O%5� N�0�6'R�O%5�2/52�>
%5��6' (N�>�1B�/�B�) (N�>�1B�/�B�) (N�>�1B�/�B�) �6%2�Nค%64/R �6% 26#6%��U6%�

         -�CO >�6% 130,500     130,500    130,500     N�?Q$$5��? �?/>�R�O1$N6�#?ค/6#
(N�>�1B�/�B�) (N�>�1B�/�B�) (N�>�1B�/�B�) 2B�

2 2N�N2%>#�1��B�2/52�>�6%�B#�� N AP12N�N2%>#�6%�5� �%4�6��Q�N�� 100,000     100,000    100,000     %O1$'4�1��%4�6�%4�6���?PN�O6%N/# 2�.

2/52�>�6%�B#��1$N6� N�0�6'N�O6N�O� �%�?PN�O6%N/#N�O� N�O�2#6�>��1��B� (�6� 5��6�B#��)

ค%1�ค'B#O'4N/#64 2#6�>��1��B� 3 2#6�>��1��B� 3 2/52�>�6%�B#��#?
2# N >P##6��@Q� คB�"6 �?/>�O'4

ค/6#N�O�1$CN�?P�?�@Q�

5
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1.4 O%/#2��2/*1�%2�2/�1 �2/�.0-Cล)1.Oล02>P�O/ ลO1-�1�#O1�">P%

2558 2559 2560

(&2#) (&2#) (&2#)

1 Pค%��6%%N1� >�C'$RN#A1��N61$CN  -N AP12%O6�ค/6#N�O#  - Pค%��6%�B#�� 130,000     130,000    130,000      -�U6�/��>��%%# N#A1�%N1� >�C'$R 5��6 �1�26�6%�2B�3
O�O�Q/O�5��B#�� �'1�"5$ �N1�? R�2CN�6%N�O�N#A1��N6
 -N AP1 5��6N#A1�Q/O  - �5�1�%# �50�  -%O1$'4�1��B#�� 1$CN�N61605$#6��@Q�
�N61$CN2CN�6%N�O�N#A1� 0@�16�C�6��CO�U6�B# �?PN�O6%N/#�>��%%# �B��B#��Q�N��N�0
2B�"6  '6�6#5$ 2>P� ��O'4O���U612#. �6'#?ค/6#2416�
O/�'O1# N0%1��>�25�  - �5��%4�/��B#�� O'4N�O�%4N�?$�
ค#�? �B#��#?�>�2U6�@� �'1��5��$4 N%?$�%O1$2/$�6#
 -N AP1O�OR�2"6 O/�  - �5��>��%%#�$4 $>P��@Q�
'O1#�1�N#A1� O'4R�N �4/#?P�@P�2U6
 -N AP1Q/O�5�N%?$�O'4 N%O�%C��B#��'41ค%5Q�

�%4�6��#?2N/�%N/#  - �5��5Q���6ค6%
Q��6%�5��6%�$4 �$4%?R�Nค>'"6$Q�
�6%%?R�Nค>'/52�BN/'A1 �B#��/P%�N%?$�Q�
Q�O�6�ค%5/N%A1� N��N�0�6'
 -N AP12%O6�%4���6%  - �5��%4�/��B#��

ค5�O$��$4 %5�16ค/6#2416�
3'3

5
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2 Pค%��6%�O6�N/#6�%>�6%%5�16ค/6# N AP1Q/O���O'4�6� �U6N�>��6%�O6�N/#6 1,500,000  1,500,000 1,500,000  �U6�/�N%AP1�%O1� %4���6%%5�16 �1�26�6%�2B�3
2416�O'4N�O�%4N�?$�N%?$�%O1$�1� N�O62416�N%?$�%O1$ �%>�6%N AP1�U6�6% N%?$�N�?P$/�5��6% ค/6#2416�Q�N��
���O'4�6�N�O6 2/$�6#�N6#1� �5�N�O� �� �/6� %5�16ค/6#2416� N�0�6'#?�%42>��>

�$4#C'�1$O'4%5� Q�N��N�0�6'3 "6 #6��@Q� �5P/�B�
16ค/6#2416����  AQ��?PQ�N��N�0�6'
26�6%�4 'O6�O'4 #?ค/6#2416�O'4
�B�'1�คCค'1�"6$ N�O�%4N�?$�N%?$�
Q�N��N�0�6'3 %O1$

3 Pค%��6%�O6�N/#6�%>�6%�B�/'B#�$4 N AP1%1�%5��%>#6� �O6�N/#6�B�/'B# 500,000     500,000    500,000     �U6�/�N%AP1�%O1� #?2�6��?P%1�%5��$4 �1�26�6%�2B�3
�O6��O6$N%A1 /#CN 12 �$4Q�N��N�0�6' �$4 1 �B� N%?$�N�?P$/�5��6% #C'�1$N ?$� 1�5�

�?PN >P##6��@Q� �5�N�O��$4#C'�1$/ �%>#6��$4
�$4��คO6�

4 Pค%��6%�%4�/��O6�2/$�O/$#A1N%6 N AP1Q/O�B#��#?2N/� �5�Q/O#?�6%�%4�/� 20,000       20,000     20,000      �U6�/��B#���?P �B#��#?ค/6#�%4 �1�26�6%�2B�3
(N2�1P�$�B#���O6��'6�Q/#N) %N/#Q��6%�CO'%5�16 �O6�2/$3 �6� 12 N�O6%N/#�>��%%# /�5�Q��6%�CO'

ค/6#2416� �B#�� %5�16ค/6#2416�
5 Pค%��6%/�O6�O6��N6#1� N AP1Q/O�B#��#?2"6 �>��5Q��B�/6��5��$4 20,000       -          -           �U6�/��B��?P�>��5Q� 2"6 "C#>�50�R2/$ �1�26�6%�2B�3

(N2�1P�$�B#���O6��'6�Q�-�6�N%?$/) "C#>�50�R�?P2/$�6# Q��B#�� �6##6��@Q�
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6 Pค%��6%�'>��B$๋�?/"6 /�QU6/#5��?/"6 N AP1N�O��6%�U6/52�B �5�1�%#/26�>��6% 50,000       50,000     50,000      �U6�/��CON�O6%N/# '��%>#6��$4O'4 �1�26�6%�2B�3
(EM) N/'A1Q�OQ�ค%5/N%A1� �'>��B$๋�?/"6 /�QU6 �>��%%# �6%Q�O�B$๋Nค#? N�>�

#6�U6N�O��B$๋/#5��6# /#5��?/"6 (EM) �6%1�B%5�1R!AQ�!C
�%5��6N0%1��>� 1 �6��$4Q��B#�� 2>P�O/�'O1#1$N6�
N ?$� �N1Q/ON�>��6% O'4P%�N%?$�Q/OO�N $5P�$A� �%4�6��%CO
1�B%5�1R !AQ�!C2>P�O/� �%4�6��O'4�%. �5��6%�U6N�>��?/>�
'O1#1$N6�$5P�$A�  %O1#�5��U6N1�26% O�� 1#? 1�>�  @P�
2N�N2%>#/>�?�?/>��1� N�$O %N�%4�625# ��N1�R�O N2%>#2%O6�

�%4�6��Q/O%CO�5� 1  5��R �B#��O'4N0%1��>�
#? 1�>�  @P���N1�R�O �B#��Q/ON�O#O�O�

1$N6�$5P�$A�
7 �N12%O6�N�6N�60 �'1�#' >1 N AP1Q/O#?�6%N�60 �?P �N12%O6�N�6N�60 2,000,000  2,000,000 2,000,000  คN6#' >1�6�16 �6%N�60 �C�2B� �1�26�6%�2B�3

�C�2B�'5�1�4 '�#' �'1�#' >1 2 /O1� �60N�?$��5� '5�1�4 '�#' >1
 >1Q�16�60O'4%5�16 N�6R/#O � /5� >06' #6�%�6��%# Q�16�60O'4�N/$
2"6 O/�'O1#�B#�� �&#>� ค/�ค/�คB##' >1%5�162>P�O/�'O1#
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8 �5��AQ1�5�%1�%5��$4#C'�1$ N AP1%5�16ค/6#2416� �5�/6�5�%1�%5�#C' 200,000     200,000    200,000     �U6�/�N%AP1�%O1� ���/�6�26�6%�4 �1�26�6%�2B�3
(N2�1P�$�B#���O6��'6�N�1�%,�B#�� O'4N�O�%4N�?$��1� �1$�U6�/� 100 N%?$�N%AP1��$4 #?ค/6#N�O�%4N�?$�
�O6�N�6�O1$06'6�6�,�B#���O6�/5�R�%, ���/�6�26�6%�4 �5��N1�? #C'�1$ 2416� �N6#1�
�B#���O6��6P �>T/�1�คC�5�,�B#���O6�
�'6�%N1� >�C'$R)

6
1

(ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&
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1.5 O%/#2��2/*1�%2�2/N2/>-2/O2�'/02>#$>,2*Q%�2/2/O2�ค/2-'ล1 ,1.Q%#O1�">P%Oล0�2/'O1��1% &//N#222$2/�,1.

2558 2559 2560

(&2#) (&2#) (&2#)

1 �N/$N/'A1�%4�6��Q�N��N�0�6' N AP1�%%N�6ค/6#N�A1� Q/Oค/6#�N/$N/'A1 100,000     100,000    100,000     �U6�/�ค%5/N%A1� 26#6%��%%N�6 2�.

%O1��6�26�6%�"5$ O�N�COR�O%5�ค/6# �?P�1%5�ค/6#�N/$ ค/6#N�A1�%O1� (�6��C1��5�3)

�N6� N �?PN�>��@Q�Q� N�A1�%O1��6�26�6 N/'A1 �%4�6��26#6%�
N��N�0�6' %�"5$�N6� N �U6%��?/>�1$N6����>

2 �@�1�%#1� %. N AP1 5��6�%42>��> �5��@�1�%#2#6�>� 200,000     200,000    200,000     �U6�/��CON�O6%N/# 2#6�>�1� %.#?�5�14 2�.

"6 Q��6%�C1��5� 1� %.�U6�/� 1%BN� �@�1�%# Q��6%��>�5�>/�O6�?P (�6��C1��5�3)

O'4�%%N�626�6%� �%4#6� 70 ค� �?P�?�@Q�
"5$O�N2#6�>�1� %.
�1�N�0�6'3

3 %5�O'4/N/�Q$2/#/#/��>%"5$Q/O�O1� N AP1%�%�คR�6%2/# �5�1�%#N$6/��Q� 50,000        - 50,000      �U6�/��CON�O6%N/# N$6/���CO�5��?P%� 2�.

/#/��>%"5$ค%� N��N�0�6' �U6�/� �6%1�%# �$$.#?ค/6#�'1� (�6��C1��5�3)

100%�6#�P$�6$ 15 ค� O'4O�� "5$#6��@Q�
�%4�%/�#/6�R�$ /#/��>%"5$150Q�

4 �@��O1#O���6%�5�N '>� N AP1 5��6�%42>��> 1� %.,#C'�>�>,�U6%/� 35,000       35,000     35,000      �U6�/��CON�O6%N/# N�O6/�O6�?P�?PN�?P$/�O1� 2�.

"6 Q��6%��>�5�> O'4��.�B#��%N/# �@�1�%# 26#6%���>�5�>/�O6�?P (�6��C1��5�3)

/�O6�?P�5�N '>� �@� �U6�/� 80 ค� R�O1$N6��C��O1�O'4
#?�%42>��>"6 
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(&2#) (&2#) (&2#)

5 �C1��5�O'4'�1B�5�>N/�B�6����Q��N/� N AP1Q/O�%4�6���CO �5Q��B��%>�6%Q��N/� 90,000       90,000     90,000      �U6�/��COQ�O�%> �%4�6��#?ค/6# 2�.

N�0�6'(7/5�15��%6$) 25��%R�#6Q��N/� 7/5�15��%6$�1� �6% � �B��%>�6% �'1�"5$Q��6%N�>� (�6��C1��5�3)

N�0�6'#?ค/6#�'1� N�0�6'�?Q/#NO'4 �6� #?�B� 5�O'4
"5$��4N�>��6� 2��%6��RP�$���. 21��6#N2O��6�

�1�N�0�6',1� %.

6 1�%#�6%2%O6�ค/6#�'1�"5$Q��?/>� N AP1Q/O�%4�6��#? �5�1�%#��.�B#�� 10,000       10,000     10,000      �U6�/��CON�O6%N/# �CO%N/#Pค%��6%R�O%5� 2�.

O'4�%5 $R2>��1��%4�6�� ค/6#N�O6Q�Q��6%Q�O  N1คO6O#NคO6Q�N�� �6%1�%# ค/6#%COO'426#6%� (�6��C1��5�3)

1B��%�R�5�N '>�N�AQ1� N�0�6' �U6�/� Q�O1B��%�R�5�N '>�
�O� O'4�6%Q�O �CO' 80 ค� 1 ค%5Q�/�? O'4O�P2/B��O#R�O
%5�16O�P2/B��O# 1$N6��C��O1�

7 �>��5Q�%4��P�%�50�R/��%�>�(CCTV) N AP1Q/O�%4�6��#? �>��5Q�%4��P�%�50�R 1,000,000   -  - 2�>�>�6%N�>�1B�5�> �%4�6��#?ค/6# 2�.

ค/6#�'1�"5$Q� /��%�>�(CCTV) N/�BN�?$��5��?�@P �'1�"5$Q��?/>�O'4 (�6��C1��5�3)

�?/>�O'4�%5 $R2>� 16ค6%2U6�5��6� �N6�#6 �%5 $R2>�#6��@Q�
#6���@Q� �C1��5�3  AQ��?P�6� 26#6%�ค/�คB#

%N/#�6�O$�O'4 2"6 �6%�%6�%R�O�?

 AQ��?P�B�N2?P$� $>P��@Q�
�5Q� 12 �B#��

6
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(&2#) (&2#) (&2#)

8 Q/Oค/6#%CO�O6�/>�5$�%6�%O�NN�O�O'4 N AP1�'C��T�/>�5$�%6 �5�1�%#Q/Oค/6#%CO 50,000       50,000     50,000      2�>�>�6%N�>�1B�5�> 15�%6�6%N�>�1B�5�> 2�.

N$6/�� �%O�NN�O�O'4N$6/�� N�?P$/�5�/>�5$�%6�% N/�BN�?$��5��?�@P N/�BQ� AQ��?P'��O1$ (�6��C1��5�3)

Q�N��N�0�6' O�NN�O�O'4N$6/�� �N6�#6 '�
Q�N��N�0�6'
�U6�/� 1 %BN�

9 1B�/�B��6%%5�16ค/6#2��N%?$�%O1$ N AP1Q/O1U6N"1%N1� Q/O�6%2�5�2�B� 10,000       10,000     10,000      �U6�/�ค�? N��1.%N1� >�C'$R#? 2�.

Q��O1��>P�  >�C'$R#?ค/6#2�� ���%4#6�O�N 1. N�?$��5��?�?P ค/6#2��N%?$�%O1$ (�6��C1��5�3)

N%?$�%O1$ %N1� >�C'$RQ��6% �N6�#6
�U6N�>�Pค%��6%%5�16

ค/6#2��N%?$�%O1$

10 �>��5Q�%6/N/'O��5Q�����6�PคO� N AP1�C1��5��6%N�>� �>��5Q�%6/N/'O� 50,000       50,000     50,000      2�>�>�6%N�>�1B�5�> �6%25��%"6$Q� 2�.

(N2�1P�$�B#���O6��'6�%N1� >�C'$R) 1B�5�>N/�B�%>N/��B� �%>N/��6�PคO��B� N/�BN�?$��5��?�@P �B#��#?ค/6#�'1� (�6��C1��5�3)

N2?P$�Q��B#�� N2?P$��5Q� 12 �B#�� �N6�#6 "5$#6��@Q�
Q�N��N�0�6'
(�B#���O6��'6�%N1� >�C'$R:%6/N/'O��5��6�PคO�/5/24 6�)

11 คN6Q�O�N6$Q��6%�@�1�%#Pค%��6% N AP1 5��605�$"6 �5�2N�N�O6/�O6�?PN�O6%N/# 50,000       -          -           �U6�/�N�O6/�O6�?P �6%��>�5�>/�O6�?P 2�.

/�@P��U6�'/�@P��?#�CO�? �CO"5$ �1�N�O6/�O6�?P�C1��5�3 �@�1�%# �U6�/� 10 �?P�N6�/'5�2C�%3 �C1��5�26�6%�"5$ (�6��C1��5�3)

ค� #?�%42>��>"6 #6��@Q�

6
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(&2#) (&2#) (&2#)

12 �>��5Q��5��5�N '>�Q��B#�� N AP1N�O��6%N�%?$# �5�/6O'4�>��5Q� 100,000     100,000    100,000     �U6�/�ค%5Q��1� �N/$'�ค/6#N2?$/6$ 2�.

(N2�1P�$�B#���O6��'6�Q/#N,�B#�� ค/6# %O1#Q��6% �5��5�N '>�Q� 12 �6%N�>�15คค?"5$ �6��6%N�>�15คค?"5$ (�6��C1��5�3)

2B/%%�%5�1?,�B#���O6��B6�# CN,�B#�� �C1��5�15คค?"5$ �B#��Q�N��N�0�6' �5��?Q Q��B#��R�O
�O6��'6�N�1�%,�B#���O6�/5�R�%, �B#���O6��'6�Q/#N:15 �5�
�B#���O6��6P �>T/�1�คC�5�,�B#���O6� �B#��2B/%%�%5�1? : 10 �5�
�'6�Q��6�N%?$/) �B#���O6��B6�# CN : 10-15 �5�

�B#���O6��'6�N�1�% : R#N%4�B�U6�/�
�B#���O6�/5�R�% : R#N%4�B�U6�/�
�B#���O6��6P �>T 3 : 2 �B�
�B#���'6�Q��6�N%?$/ : R#N%4�B�U6�/�

13 �>��5Q��%4��PคO�Q��B#�� N AP1�C1��5��6%N�>� �>��5Q��%4��PคO��B� 100,000     100,000    100,000     �U6�/��B��>��5Q� �6%25��%Q��B#�� 2�.

(N2�1P�$�B#���O6��'6�Q/#N,�B#�� 1B�5�>N/�BQ��B#�� N2?P$�/%O1��112�B#�� �%4��PคO� #?ค/6#�'1�"5$ (�6��C1��5�3)

2B/%%�%5�1?,�B#���O6��B6�# CN,�B#�� �B#���O6��'6�Q/#N : 5 �B� #6��@Q�
�O6�/5�R�%,�B#���O6��6P �>T/�1�คC�5�, �B#��2B/%%�%5�1? : 5 �B�

�B#���O6��'6�%N1� >�C'$R) �B#���O6��B6�# CN : 5 �B�
�B#���O6�/5�R�% : 2 �B�(/�O6/O1�16/6%,�6�'�/5�R�%N�N6)
�B#���O6��6P �>T 3 : 2 �B�
�B#���O6��'6�%N1�3 : R#N%4�B�U6�/�

6
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.B#$022!/์�1�//1 #?P 1 ,2Oล05
 - .B#$022!/์�2/*1�%2�1�1'#.Q%N�!�1�//1 #?P 1Oล03
2. .B#$022!/์�2/*1�%2 O2%ค/2-N�O-O�O��1�ชB-ช%
2.1 O%/#2��2/*1�%201�.,2*�1��ลBN-/ชB-ช%1.N2�!N1N%AP1�Oล0-?'/02>#$>,2*

2558 2559 2560

(&2#) (&2#) (&2#)

1 �@�1�%#O'4�50�0@�16�C�6��1��CO�U6 N AP1N >P# C��%42� �5��@�1�%#O'4�U6 550,000     550,000    550,000     %O1$'4�1��CON�O6 �CO�U6�B#��26#6%� 2�.

�B#�� �6%�RO'4/>25$�50�R �CO�U6�B#��R�0@�16 %N/#�>��%%#�?P�U6 �U6ค/6#%CO�?PR�O�'5� (�6� 5��6�B#��)

�?P�/O6�R�'�1��CO�U6 �C�6� 1 ค%5Q�/�? ค/6#%CO�?PR�OR�Q�O R� 5��6�B#���1�
�B#�� �%4P$��R ��N1�

2 2N�N2%>#�>��%%#�#%#�CO2C�16$B N AP1Q/O�CO2C�16$BR�O 2#6�>��#%#�CO2C� 100,000     100,000    100,000     �U6�/��CO2C�16$B �CO2C�16$B#?2B�"6 �? 2�.

 5��6��N1�O'4#? 16$BR�O#?�6% ��4 �?PN�O6%N/#�>��%%# �5Q�%N6��6$O'4 (�6� 5��6�B#��)

2N/�%N/#Q��>��%%# O'�N�'?P$��%42� �>�Q�
�6�25�ค# �6%�R

3 %N/#�6�#/�%%#2N�N2%>#2B�"6 �CO2C�16$B N AP1Q/O�CO2C�16$BR�O 2�5�2�B��#%#�CO 50,000       50,000     50,000      �U6�/��CO2C�16$B �CO2C�16$BR�OO'�N�'?P$� 2�.

"/5��1�'U6�/��6�" N%?$�%COQ��>��%%# 2C�16$BN�O6%N/# �?PN�O6%N/#�>��%%# N%?$�%CO�%42��6%�R (�6� 5��6�B#��)

�N6�N�1�Nค%A1�N6$ #/�%%#2N�N2%>#2B� �@P��5�O'4�5�
�#%#�CO2C�16$B1AP�N "6 �CO2C�16$B�1�

1U6N"1%N1� >�C'$R

6
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4 2N�N2%>#�>��%%#�O6��6% 5��62�%?O'4 N AP12%O6�ค/6#%5� 2#6�>�ค%1�ค%5/ 50,000       50,000     50,000      �U6�/�ค%1�ค%5/ ค%1�ค%5/�?P�N6��6% 2�.

ค%1�ค%5/ ค/6#N�O6Q�O'4ค/6# �?PN�O6%N/#Pค%��6% �?PN�O6%N/#�>��%%# �@�1�%#26#6%� (�6� 5��6�B#��)

25# 5��R�?P�?%4//N6� R�O�U6�>��%%#%N/# N�O��O�O���6�
2#6�>�Q�ค%1�ค%5/ �5� 25�ค#O'4�U6R�

�$6$�'�N1R�
5 �N1N�>#/O1��QU616ค6%N1���%42�คR N AP1Q/O�B#��#?/O1��QU6 �N1N�>#/O1��QU6 -           40,000     -           �U6�/��COQ�O�%4 �B#��#?/O1��QU6Q�O �1��N6�

�B#���%?�6�1�-�O6��6'@� Q�OQ���4�5��>��%%# �U6�/� 1 /O1� P$��R�6�/O1��QU6 Q���4�5��>��%%#
(N2�1P�$�B#���%?�6�1�-�O6��6'@�) �N6� N 

6 �$6$ AQ��?P�5��>��%%#�B#���%?�6�1�3 N AP1Q/O�B#��#? AQ��?P �5�/6 AQ��?P2U6/%5� -           -          200,000     �U6�/��COQ�O�%4 �B#��#? AQ��?PQ��6% 2�.

(N2�1P�$�B#���%?�6�1�-�O6��6'@�) �5��>��%%##6��@Q� �U6N�>��>��%%# P$��R�6� AQ��?P �5��>��%%# (�6� 5��6�B#��)

�5��>��%%#

7 �5��U6O'4�>��5Q��C6$�%4�625# 5��R N AP1N >P#�B��%4�625# �5��U6O'4�>��5Q� 20,000       -          -           �U6�/��COR�O%5� N >P#�N1��6��6%R�O 2�.

�O1#C'�N6/26% (N2�1P�$�B#���O6��B6  5��R�O1#C'�N6/26% �C6$�%4�625# 5��R �N6/26%�6��C6$ %5��O1#C'�N6/26% (�6��%4�625# 5��R)

�# CN) O�N�B#�� �O1#C'�N6/26%��>� �%4�625# 5��R
#?/'5�ค6 1 �B�

6
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8 �>��5Q��B��%4�6$N2?$��6#26$ N AP1N >P#�N1��6�Q� �>��5Q��B��%4�6$ 100,000     50,000     50,000      �U6�/��COR�O%5� �B#��26#6%�%5� 2�.

(N2�1P�$�B#���O6��'6�Q/#N,�B#�� �6%%5��O1#C'�N6/26% N2?$��6#26$Q� �N6/26%�6�N2?$� !T��O1#C'�N6/26% (�6��%4�625# 5��R)

�O6��B6�# CN,�B#���O6��'6�Q� �1��B#���N6�NQ� �B#���?P%O1��1 �6#26$Q�O�N'4 R�O1$N6��5P/�@�#6�
�6�N%?$/) N��N�0�6' �5��?Q �B� �@Q�

�B#���O6��'6�Q/#N:�%>N/��O6$�'6�
�B#���O6��B6�# CN:�O6�06'6�@QN/'O�
�B#���O6��'6�Q�3:R#N%4�B�B��>��5Q�

9 �5��5Q�0C�$R�%1��1�2#6��5��R%4�5� N AP1N2%>#2%O6�ค/6# �5��5Q�0C�$R�%1��1� 20,000       -          -           �U6�/��%4�6�� N�>�ค/6#�%1��1� 2�.

�O1��>P� 26#5คค?�%1��1��1� 2#6��5��R 2N�N2%># �?PN�O6%N/#�>��%%# 2#6��5��RQ��O1� (�6��%4�625# 5��R)

�%4�6��Q��O1��>P� �>��%%#�6%#?2N/� Q�O�N'4ค%5Q� �>P�
%N/#�1��%4�6��
�B�"6ค2N/�
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2.2 O%/#2��2/2N�N2/>-N0/1��>�Oล02%1&2%B%�ลBN-12ช?*
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(&2#) (&2#) (&2#)

1 2N�N2%>#�6%�%4�1�16�? O'4�6%%/# N AP1Q/O�%4�6��Q� �%4�6��#?%6$R�O 120,000     120,000    120,000     �U6�/��'BN#16�? �N/$'�%6$�N6$O'4 2�.

�'BN#16�? �1��%4�6�� �B#��#?%6$R�ON >P#�@Q� N >P#�@Q� '�%6$�N6$ Q�N��N�0�6' N >P#%6$R�OQ�ค%5/ (�6� 5��6�B#��)

(N2�1P�$�B#���%?�6�1�3,�B#��Pค� O'4Q�ON/'6/N6�Q/O Q�ค%5/N%A1� N%A1�O�N�%4�6��
$6�,�B#��/5�R�%,�B#���6P �R3,�B#�� N�O��%4P$��R ชB-ช%'/?ช2#1�/
�'6�N�1�%,�B#���B6�# CN,�B#���'6� : �'BN#�5�26�,�'BN#
Q/#N,�B#��N�6�O1$3,�B#��/5�N� �# �B$๋/#5� �QU6/#5� 
N�A1�,�B#���'6�%N1� 54-57) �QU6$6N1���%42�คR

�'BN#�U6��# N�N�1%?P

�'BN# 62N�1%RR%2R
16/6% AQ��O6�
ชB-ช%&O2%Pค�.2�
: �'BN#16�? �U6��#
Nค%AP1�O�� Nค%AP1�
�5�26�
ชB-ช%&O2%/1�R#/
: �'C��5�2/�ค%5/
�5� AQ��O6�

6
9

(ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&

#?P Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI)



2558 2559 2560

(&2#) (&2#) (&2#)

ชB-ช%&O2%%2P*$>N/
: �'BN#�U6��#
ชB-ช%!ล2 N�1!/
: N 64 5��BRR#O�U6/�N6$
ชB-ช%&O2%'N2ช-*CN
: �U6�QU6$6N1���%4
2�คR N'?Q$��'6�B�
�B$๋ N�$/1# �5�
ชB-ช%!ล2 Q/-N
: �12�5�2�B� 5��BR
�'6,R�N
ชB-ช%&O2%N�2%O1.
: 2N�N2%>#�6%N'?Q$�
R�O�O6�
ชB-ช%N#*%-NชA1 
: �QU6�AP#2#B�R %
ชB-ช%!ล2 /N1%/
: �'BN#O#N�O6��U6�QU6$6N1���%42�คR

7
0

#?P Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI) (ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&



2558 2559 2560

(&2#) (&2#) (&2#)

2 #/�%%#16/6%O'4�1��? N AP1�%4�625# 5��R �5��6�#/�%%# 100,000     100,000    100,000     %O1$'4�1��'BN# 2N�N2%>#�6%�%>�6% �1�26�6%�2B�3
N#A1�%N1� >�C'$R 16/6%O'4�1��?�1� 16/6%O'4�1��? N�C6/#6$�?PN�O6 Q/O�C�2B�'5�1�4

1U6N"1%N1� >�C'$R N#A1�%N1� >�C'$R %N/#�>��%%# �'1�"5$O�N�CO�%>P"ค

O'4�N/$�%4�BO�
N0%1��>��1��O1��>P�

3 �N1N�>#/'5�ค6/�5�26��'6�2�N�0�6' N AP1Q/ON�>��6%Q�O�%4 �N1N�>#/'5�ค6�5�26� 800,000     -          -           ค/6# @� 1Q� N�>�ค/6#2/$�6# �1�26�6%�2B�3
�U6�'%N1� >�C'$R /#CN 7 P$��R26�6%�4  �5� �O6�/�O6 �/O6� 8 #. �1��CO�%4�1� O'4��R#N26�  /�1��N6�
(N2�1P�$�B#���O6��'6�Q/#N) ��26�O'4N�>�ค/6# $6/ 495 #. �6%Q��'6�2�

2/$�6#
4 �O6�N/#6N�?$�O��16ค6%�U6/�N6$2>�คO6 N AP1Q/O#?O��16ค6% �O6�N/#6N�?$�O�� -           118,000    -           �6%#?O��16ค6% #?O��16ค6%�U6 �1��N6�

/#CN 12 �U6/�N6$2>�คO6�?PR�O 16ค6%�U6/�N6$ �?P�%��6#/5��B /�N6$2>�คO6�?PR�O
#6�%�6� 2/$�6# 2>�คO6 1 O/N� �%42�คR #6�%�6�

5 �N12%O6�16ค6%�U6/�N6$2>�คO6 /#CN 12 N AP1Q/O#?2�6��?P�U6 �N12%O6�16ค6% -           5,900,000 -           ค/6# @� 1Q� #?16ค6%�U6/�N6$ �1��N6�
/�N6$2>�คO6�?PR�O �U6/�N6$2>�คO6 �1��CO�%4�1� 2>�คO6�?PR�O#6�%�6�
#6�%�6� 2/$�6# 24  1 O/N� �6%O'4�%4�6 2/$�6#
�/�2�6$O�N�CO�%4  ���?P#6Q�O�%>�6%
�1��6%O'4�%4�6��

�?P#6�5��N6$Q�O21$

7
1

(ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&

#?P Pค/��2//�>��//- /1!"B'/02�ค์
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�1�Pค/��2/)
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2.3 O%/#2��2/2N�N2/>-Oล02%1&2%B%�2/'O1��1%Oล0O�OR�'ัญ/2.2N2*!> Q%ชB-ช%

2558 2559 2560

(&2#) (&2#) (&2#)

1 1B�/�B��6%�C1��5�O'4�%6��%6# N AP1��5�$6N2 �>�Q/O 2�5�2�B����%4 10,000       10,000     10,000      �U6�/��CO�>�26% $6N2 �>�'�'�/%A1 2�.

$6N2 �>�1U6N"1%N1� >�C'$R /#�2>Q�R��6�1U6N"1 #6�O�N1U6N"1%N1� (��N�>�1B�/�B�) (��N�>�1B�/�B�) (��N�>�1B�/�B�) N2 �>�Q� AQ��?P /#�R��6�1U6N"1 (�6��B%�6%)

%N1� >�C'$R  >�C'$RQ��6%�U6N�>� N�?$��5��?�?P�N6�#6 %N1� >�C'$R
Pค%��6% 3

2 1B�/�B�2#5��6�O6�$6N2 �>� N AP1Q�O '5��6��B#�� 2�5�2�B����%4#6� 60,000       60,000     60,000      �U6�/��CO�>�26% N�O�2N/�/�@P�Q��6% 2�.

�N/$��5��T�/6$6 O�N2#5��6�O6�$6 (��N�>�1B�/�B�) (��N�>�1B�/�B�) (��N�>�1B�/�B�) N2 �>�Q� AQ��?P O�O�T�/6$6N2 �>� (�6��B%�6%)

N2 �>�1$N6�$5P�$A� N2 �>��B��B#�� N�?$��5��?�?P�N6�#6 1$N6�$5P�$A� �@P��A1
N�O�/6%4O/N��6�>

7
2

#?P Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI) (ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&



.B#$022!/์�1�//1 #?P 2Oล05
 - .B#$022!/์�2/*1�%2�1�1'#.Q%N�!�1�//1 #?P 3
3. .B#$022!/์�2/*1�%2 O2%�2/�?02 022%2 /1�%$//-
3.1 O%/#2��2/*1�%22N�N2/>-�>��//-%1%#%2�2/ �2/NลN%�?02N*AP12B�,2*Oล0*1�%22CNค/2-N'็%Nล>0

2558 2559 2560

(&2#) (&2#) (&2#)

1 �5�2N��5��?06-�%?�6N�O6%N/#�6%O�N��5� N AP1N�O��6%2N�N2%># 2N��5��?06-�%?�6 120,000     120,000    120,000     �'�6%O�N��5� N�>��6% 5��6 �1��6%0@�16
�?06�5�//5� O'4 5��6�5��?06 N�O6%N/#O�N��5��?06 05�$"6 �1��5��?06

Q��O1��>P� �5�//5� Q��O1��>P�
2 2N��5��?06N�O6%N/#O�N��5�!B��1'�>���4 N AP1N�O��6%2N�N2%># 2N��5��?06N�O6%N/# 100,000     100,000    100,000     �'�6%O�N��5� N�>��6% 5��6 �1��6%0@�16

N'>0O/N��%4N�0R�$ O'4 5��6�5��?06 �6%O�N��5� 2 %BN� 05�$"6 �1��5��?06

Q��O1��>P� R�OO�N - %BN�N$6/�� Q��O1��>P�
         - %BN��%4�6��

3 �@�!B��1'"6ค&�C%O1� N AP1 5��6�5�14�6% �5��@�!B��1'�N/� 40,000       40,000     40,000      �U6�/��'BN#N�C6 �CO%N/#�>��%%##?�6% �1��6%0@�16
�?06O�NN�O� N$6/�� �>�"6คN%?$�&�C%O1� /#6$�?PN�O6%N/#  5��6�5�14�6%N'N�

Q��O1��>P� O�NN�O�O'4N$6/�� �>��%%# !B��1'
4 %�%�คR�6%11��U6'5��6$ N�AP1�Q�/5� N AP1Q/ON�>��6%2�Q� �5�%�%�คR�6%11� 10,000       10,000     10,000      �U6�/��'BN#N�C6 N�>��6%2�Q�Q��6% �1��6%0@�16

11��U6'5��6$P'�(Challenge Day) Q��6%11��U6'5��6$ �U6'5��6$Q�/5�11� /#6$�?PN�O6%N/# 11��U6'5��6$#6�
#6��@Q� �U6'5��6$P'� �>��%%# �@Q�

7
3

(ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&
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2558 2559 2560

(&2#) (&2#) (&2#)

5 �5��6%O�N��5�O'4�5�2N��?#!B��1'%BN� N AP12%O6�ค/6#25# 5��R �5��6%O�N��5�!B� 150,000     150,000    150,000     �U6�/��?#�?PN�O6 N�>�ค/6#25# 5��R �1��6%0@�16
�%4�6���5P/R�O'4%BN�16/BP2 %4//N6�/�N/$�6� �1' 2 %BN� R�OO�N %N/#�6%O�N��5� �?P�?%4//N6�/�N/$

O'42N�N2%>#�6%11�  - %BN��%4�6�� �6��O/$�6%11�
�U6'5��6$  - %BN�16/BP2 �U6'5��6$

6 �5��6%O�N��5��?06N�O� N$6/��O'4�%4 N AP12%O6�N2%>#2B�"6 �5��6%O�N��5��?06 420,000     420,000    420,000     2�>�>Q�O�N'4%BN�/ N$6/��O'4�%4�6 �1��6%0@�16
�6��Q�N��N�0�6' �?P�?Q/OO�NN�O�O'4 �%?�6N�O�O'4N$6/�� ��>��?06  ��2�Q�N'N��?06

N$6/��Q��O1��>P� %4//N6��B#��Q� �'�6%O�N��5� #6��@Q� 
Q�ON/'6/N6�Q/ON�>��%4 N��N�0�6'
P$��R/N6�R�'�6��6%

#5P/2B# O'42%O6�ค/6#

26#5คค?
7 2N��5��?06N�O6%N/#�6%O�N��5��?06-�%?�6 N AP12N�N2%>#2B�"6 ค5�N'A1��5��?06 - 450,000     450,000    450,000     2�>�>Q�O�N'4%BN�/ N$6/��O'4�%4�6 �1��6%0@�16

1U6N"1%N1� >�C'$R  '6�6#5$�1�N�O�O'4 �%?�6�6��B#���N6�N ��>��?06  ��2�Q�N'N��?06
N$6/��Q��O1��>P� Q�N��N�0�6'N�O6 �'�6%O�N��5� #6��@Q� 
Q�ON/'6/N6�Q/ON�>��%4 %N/#�6%O�N��5�
P$��R/N6�R�'�6��6%

#5P/2B# O'42%O6�ค/6#

26#5คค?

7
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2558 2559 2560

(&2#) (&2#) (&2#)

8 �5��6%O�N��5��?06�B#�� N AP1Q/ON�>�ค/6#26#5คค? �5��6%O�N��5��?06 100,000     100,000    100,000     �U6�/��'BN#N�C6 �B#��#?ค/6#N�O#O�O� �1��6%0@�16
�1��%4�6��Q��B#��  AQ��O6�%4//N6��B# /#6$�?PN�O6%N/# O'4#?ค/6#26#5คค?
O'42%O6�N2%>#2B�"6 ���5Q� 12 �B#�� �>��%%# N�>�ค/6#25# 5��R
�?PO�O�O%� Q�N��N�0�6' 15��?%4//N6�N�0�6'

�5��B#��
9 2N��5��?06N�O6%N/#O�N��5�!B��1'R�N�?$%RN AP1N�O��6% 5��6 2N��5��?06N�O6%N/# 100,000     100,000    100,000     �'�6%O�N��5� N�>��6% 5��6�5� �1��6%0@�16

05�$"6 �1��5��?06 �6%O�N��5�!B��1' �?06Q��O1��>P�
Q��O1��>P� �U6�/� 2 %BN� คA1

 - %BN��%4�6��
 - %BN�16/BP2

10 �@�1�%#O'4�5�2N��CO�5�2>� �CO�@�21��?06N AP1 5��6�Bค'6�% �5�1�%#Q/Oค/6#%CO 100,000     100,000    100,000     %O1$'4�1��CON�O6 �Bค'6�%R�O%5�ค/6#%CO �1��6%0@�16
�%4N"��N6�N �O6��?06�1�N�0�6' /%A1�5�2N�N�O6/�O6�?P %5��6%1�%#�?PR�O ค/6#N�O6Q�#6��@Q�

N�O6%N/#1�%# 3 %5�ค/6#%CON >P#N�>#
O'4�U6#6�%5�Q�OR�O

11 �5��6%O�N��5�O'4�5�2N��?06�%4N"� N AP12�5�2�B�O'4 �5��6%O�N��5�O'4 500,000     500,000    500,000     2�>�>Q�O�N'4%BN�/ N�>��6% 5��6�5� �1��6%0@�16
�N6�NN�O6%N/#O�N��5�  5��605�$"6 �5� �5�2N��?#�?06N�O6 ��>��?06  �?06Q��O1��>P�

�?06Q��O1��>P� %N/#�6%O�N��5� �'�6%O�N��5�

7
5
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/%N/.�2%#?P
/1&(> ช1&

#?P Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI)



2558 2559 2560

(&2#) (&2#) (&2#)

12 �5��6�/5�N�O�O/N��6�> N AP1Q/ON�O�O'4N$6/��  - �5�N/�?�6%O2�� 120,000     120,000    120,000     �U6�/��'BN#N�C6 N�O�O'4N$6/��N�>� �1��6%0@�16
�%4/�5��@�ค/6#  - �5��BO#�>�%%0�6% /#6$�?PN�O6%N/# ค/6#�%4/�5�Q�
2U6ค5��1���N1�O'4  - �5��>��%%# 5��6 �>��%%# ค/6#2U6ค5��1��� 
R�OO2��11�Q��>��%%# �6%N�O��B��O6� �'O6ค>� �'O6�U6 �'O6

2%O6�2%%คR�N6�N O2��11�Q�2>P��?P
�C��O1�

13 �O6�N/#6�Bค'6�%�5��>��%%#�?06O'4 N AP1Q/O#?�Bค'6�%%5� �5��O6��Bค'6�%�?P#? 100,080     100,080    100,080     %O1$'4�1�ค/6# #?�Bค'6�%�CO%5��>� �1��6%0@�16
�5���6�6% �>��1��O6��?06O'4 ค/6#%COค/6#26#6%�  @� 1Q��1��CO �1��O6��?06O'4

�5���6�6% O'4#?�%42��6%�R ค/�คB#�6��?P#? �5���6�6%
�O6��?06O'4�5�� �N1%6$�6��'
�6�6% �6%��>�5�>�6�

14 �N12%O6�'6��?06/�O6�O6��6$�%6�? N AP1Q/O�%4�6��#?  -�N12%O6�'6��?06 -           -          200,000     %O1$'4�1�ค/6# �%4�6��#?2�6��?P �1��N6�
�B�N2�?$%O'4�%5��%B����/'5��U6O � 2�6��?P11��U6'5� 1 �B�  @� 1Q��1��%4 Q�O11��U6'5��6$
/5� >06'�&#>�N�O����26$11��U6'5��6$ �6$#6��@Q�  -�%5��%B���� -           -          100,000     �6��Q��B#�� O'4N�>�ค/6#2�Q�
(N2�1P�$�B#���O6��'6�N�1�%) N�O����26$11� 11��U6'5��6$#6��@Q�

�U6'5��6$

7
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2558 2559 2560

(&2#) (&2#) (&2#)

15 �%5��%B�2�6#�62N�O��1'/!B��1'O'4 N AP12N�N2%>#�6%11�  - �N12%O6�2�6#�62 80,000       -          -           �U6�/��%4�6�� �%4�6��Q��B#�� �1��N6�
2�5�2�B�1B��%�R�?06�N6�N �U6'5��6$O�NN�O� N�O��1'/!B��1' �?P#611��U6'5� Q/Oค/6#2�Q�Q��6%
(N2�1P�$�B#���O6�/5�R�%) N$6/�� �%4�6��  - 2�5�2�B� 100,000     -          -           �6$O�N'4�B#�� 11��U6'5��6$#6� �1��6%0@�16

Q��B#�� 1B��%�R N�N� 'C��623 �@Q�
'C�!B��1'Q/O�B#��

16 �N12%O6�/�5�/6O'4�>��5Q�Nค%AP1�11� N AP12N�N2%>#�6%11� �5�/6O'4�>��5Q� -           250,000    -           �U6�/��%4�6�� �%4�6��Q��B#�� �1��N6�
�'6�O�O� �U6'5��6$O�NN�O� Nค%AP1�11��U6'5� �?P#611��U6'5� Q/Oค/6#2�Q�Q��6%
(N2�1P�$�B#���O6�/5�R�%) N$6/�� �%4�6�� �6$�'6�O�O� 1 �B� �6$O�N'4�B#�� 11��U6'5��6$#6�

Q��B#�� �@Q�
17 �%5� AQ��?PN AP1�U6'6��?06(�%4�%O1) N AP12N�N2%>#�6%11� �%5� AQ��?PN AP1�U6 20,000       -          -           �U6�/��%4�6�� �%4�6��Q��B#�� �1��N6�

"6$Q�/5��?��%4�>1�R �U6'5��6$O�NN�O� '6��?062U6/%5�Q�O �?P#611��U6'5� Q/Oค/6#2�Q�Q��6%
(N2�1P�$�B#���O6��'6�Q��6�N%?$/) N$6/�� �%4�6�� N'N��4�%O1 1 �B� �6$O�N'4�B#�� 11��U6'5��6$#6�

Q��B#�� �@Q�

7
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3.2 O%/#2��2/*1�%22N�N2/>-�2/1%B/1�1์ "N2.#1  2A&22%�>��//-#2�022%2 '/0N*�?Oล0,C->'ัญญ2#O1�">P%

2558 2559 2560

(&2#) (&2#) (&2#)

1 �5��6�%5� >�?�N6� N N AP1Q/O�6%�5��6�%5� �5�N�%?$#�6%�U6N�>� 150,000     150,000    150,000     %O1$'4�1��6� �6%�U6N�>��6�%5� 2�.

 >�?�N6�N�U6N�>�R��O/$ �6�N AP1�5��6�%5�  >�?�?P�U6N�>��6%  >�?�N6�N#?ค/6#N%?$� (�6��B%�6%)

ค/6#N%?$�%O1$ O2�� >�?�N6�N N�N� /5� R�O2U6N%O� 2#�C%�R %O1$�C��O1��6# >�?
11��@�ค/6#��%5�"5��? �>$#/6%6� /5� �6%

N�'># %4��#
 %%16 3'3

2 1B�/�B��%4N �?�A10?'�>�N� N AP12N�N2%>#�%4N �? 2�5�2�B����%4#6� 50,000       50,000     50,000      �U6�/��%4�6�� N�O��6%1�B%5�1R�%4 �1��6%0@�16
15��?�6#�1��O1��>P� Q/OO�N 06'N�O6 %4 (��N�>�1B�/�B�) (��N�>�1B�/�B�) (��N�>�1B�/�B�) �?P#6%N/#�>��%%# N �?15��?�6#�1�

108 Q��6%�5��6� �O1��>P�
�%4N �?�A10?'�>�N�

3 1B�/�B��6%O/N/#D%5�Q��%4N �?�B� N AP12N�N2%>#�%4N �? 2�5�2�B����%4 20,000       20,000     20,000      �U6�/��%4�6�� N�O��6%1�B%5�1R�%4 �1��6%0@�16
26%�N�A1�2>� 15��?�6#�1��O1��>P� #6�O�N1U6N"1%N1� (��N�>�1B�/�B�) (��N�>�1B�/�B�) (��N�>�1B�/�B�) �?P#6%N/#�>��%%# N �?15��?�6#�1�

 >�C'$RN AP1�5���/� �O1��>P�
O/N/#D%5�

7
8

#?P Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI) (ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&



2558 2559 2560

(&2#) (&2#) (&2#)

4 �5��6��%4N �?O/NN�?$� %%16 N AP1Q/O�%4�6��#? �5�Q/O#?�6%2#P"��R 30,000       30,000     30,000      �U6�/��CON�O6%N/# 1�B%5�1R�%4N �?15� �1��6%0@�16
2N/�%N/#Q��>��%%# N�?$� %%16O'4 �>��%%# �?�6#O'4�%4�6��
/5�2U6ค5��6�062�6 �5���/�O/NN�?$� R�O#?2N/�%N/#

 %%16R��/6$$5�
/5��N6�NQ�N��
N�0�6'

5 �5��6��%4N �?2��%6��RO'4/5���5�SC N AP12N�N2%>#����%%# �5�Q/O#?�>��%%# 80,000       80,000     80,000      �U6�/��CON�O6%N/# 2A�26��%4N �?15� �1��6%0@�16
N�?$#�%4N �?15��?�6# 2%��QU6 %4 B��%C� �>��%%# �?�6# �CO2C�16$B 
O'4�%4/�5�Q�คB�คN6  %42��R %��QU6�1 ค%1�ค%5/O'4ค�
�1��CO2C�16$B 2%O6�  %�CO2C�16$BO'4�6% Q��B#��#?ค/6#25#
ค/6#25# 5��R�1� �%4�/��CO2C�16$B  5��R�?P�?�N1�5�
ค%1�ค%5/O'4�B#�� 2B�"6 �?

6 �5��6��%4N �?'1$�%4�� N AP11�B%5�1R/5���%%# �5�Q/O#?#/%2 200,000     200,000    200,000     �U6�/��CON�O6%N/# %N/#�5�1�B%5�1RO'4 �1��6%0@�16
�%4N �?'1$�%4�� �5��%4�/��%4�� �>��%%# 2A�26��%4N �?
N�>��6%#?2N/�%N/# �5��%4�/��>�6 15��?�6#
Q��6%�5��>��%%# � #60
�N6�N
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(&2#) (&2#) (&2#)

7 �6��%4N �?'6� %4 N AP1N�O��6%2N�N2%># �5�Q/O#?�6%�%4�/� 150,000     150,000    150,000     �U6�/��CON�O6%N/# N�>��6%2A�26��%4 �1��6%0@�16
O'41�B%5�1R/5���%%# N%A1 %4O'4��/� �>��%%# N �?�O1��>P�O'4N�>�
�%4N �?15��?�6#�1�O/NN%A1 %4 �5�Q/O#? �6%#?2N/�%N/#Q�
�O1��>P� #/%2 O'4�6%�%4 �>��%%#�N6� N 

�/��N6� N
8 �5��6�/5��@Q��?Q/#N N AP1Q/O�%4�6��R�O �5�Q/O#?�6%�U6�B� 30,000       30,000     30,000      �U6�/��CON�O6%N/# N�>�ค/6#N�O�2>%>#� �1��6%0@�16

%N/#�5��U6�B��5��6�% �5��6�%Q�P1�62 �>��%%# ค'O�N�CO%N/#�>��%%#
N�AP1�Q�/5��@Q��?Q/#N /5��@Q��?Q/#N
N�>�ค/6#N�O�2>%>#�ค�

9 �5��6��%4N �?�5��6�%N�P/ N AP1N�O��6%%5�16��� �5�Q/O#?�6%�U6�B� 10,000       10,000     10,000      �U6�/��CON�O6%N/# R�O%N/#�5�1�B%5�1R �1��6%0@�16
� /5�N�6�O1$ �%%#N�?$# �%4N �? �5��6�%N�P/ � �>��%%# �%4N �?15��?�6#

15��?�6#�1��O1��>P� /5�N�6�O1$ �1��O1��>P�

10 �/��? %6/#�R�/6$N�O� %4%6��B0' N AP1�/6$N�O� %4%6� �5��>��%%#�/��? 50,000       50,000     50,000      �U6�/��CON�O6%N/# R�O%N/#�>��%%#�6� �1��6%0@�16
�B0'Q�/P%�622U6ค5�  %6/#�R �>��%%# 062�6O'4�/6$
�N6�N N�O� %4%6��B0'Q�

/P%�622U6ค5��N6�N
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(&2#) (&2#) (&2#)

11 �O6�N/#6�Bค'6�%�5��>��%%#�%4N �? N AP1Q/O#?�Bค'6�%%5� �5��O6��Bค'6�%�?P#? 100,080     100,080    100,080     %O1$'4�1�ค/6# #?�Bค'6�%�CO%5��>� �1��6%0@�16
062�6O'4/5���%%#�O1��>P� �>��1��O6��>��%%# ค/6#%COค/6#26#6%�  @� 1Q��1��CO �1��O6��%4N �?

�%4N �? 062�6O'4 O'4#?�%42��6%�R ค/�คB#�6��?P#? 062�6O'4/5��
/5���%%#�O1��>P� �O6��6%�5��>��%%# �N1%6$�6��' �%%#�O1��>P�

�%4N �? 062�6 �6%��>�5�>�6�
O'4/5���%%#�O1��>P�

12 2�5�2�B��6%�5��>��%%#����O6//'6# N AP12N�N2%>#�%4N �? 2N�N2%># 2�5�2�B� 20,000       20,000     20,000      �U6�/��CON�O6%N/# N�>��6%2A�26��%4 �1��6%0@�16
Q�/5�2��%6��R O'4�6%�N1�N�?P$/ �6%�5��>��%%# �>��%%# N �?2��%6��RO'4
(N2�1P�$�B#���'6�%N1� >�C'$R) Q��O1��>P� ����O6//'6# 2�5�2�B��6%�N1�

N�?P$/Q��O1��>P�
13 1B�/�B�Pค%��6%2N��O6$�?N�N6/>�?R�$ N AP12N�N2%>#�6%%N/# 2�5�2�B����%4#6� 5,000        5,000       5,000        �U6�/��CON�O6%N/# �%4�6��%N/# �1��6%0@�16

�O1�%5��?Q/#N/>�? B�� �>��%%#�6�062�6 O�N2"6/5���%%#3 (��N�>�1B�/�B�) (��N�>�1B�/�B�) (��N�>�1B�/�B�) �>��%%# �>��%%#�6�062�6
2N�N2%>#คB��%%# N AP1�U6N�>�Pค%��6% N�>�ค/6#N�O�2>%>#�ค'

�%>$�%%#
14 1B�/�B�Pค%��6%�%4N �?#6��C�6 N AP12A�26�1�B%5�1R 2�5�2�B����%4#6� 5,000        5,000       5,000        �U6�/��CON�O6%N/# �%4�6��%N/# �1��6%0@�16

O/N�O6�@Q��6�B�6�6�6�> �%4N �?15�N�O�N1� O�N2"6/5���%%#3 (��N�>�1B�/�B�) (��N�>�1B�/�B�) (��N�>�1B�/�B�) �>��%%# �>��%%#�6�062�6
'5�1�R�1��5�//5� N AP1�U6N�>�Pค%��6% N�>�ค/6#N�O�2>%>#�ค'

�ค%0%?�%%#%6�
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(&2#) (&2#) (&2#)

15 �%4N �?O/N�O6�@Q��6�B � /5�N�6�O1$ N AP12A�26��%4N �? %N/#�>��%%#O/N�O6 10,000       10,000     10,000      �U6�/��CON�O6%N/# �%4�6��%N/# �1��6%0@�16
/5���%%#�O1��>P� �@Q��6�B � /5�N�6�O1$ �>��%%# �>��%%#�6�062�6

16 1B�/�B�Pค%��6%�%4N �?Q/O�6�R! N AP12N�N2%>#�6%%N/# 2�5�2�B����%4#6� 5,000        5,000       5,000        �U6�/��CON�O6%N/# �%4�6��%N/# �1��6%0@�16
�>��%%#�6�062�6 O�N2"6/5���%%#3 (��N�>�1B�/�B�) (��N�>�1B�/�B�) (��N�>�1B�/�B�) �>��%%# �>��%%#�6�062�6

N AP1�U6N�>�Pค%��6%

17 1B�/�B�Pค%��6%N�O6/5� ��>�5�>�%%# N AP12N�N2%>#�6%%N/# 2�5�2�B����%4#6� 5,000        5,000       5,000        �U6�/��CON�O6%N/# �%4�6��%N/# �1��6%0@�16
!T�N�0�R �>��%%#�6�062�6 O�N2"6/5���%%#3 (��N�>�1B�/�B�) (��N�>�1B�/�B�) (��N�>�1B�/�B�) �>��%%# �>��%%#�6�062�6

N AP1�U6N�>�Pค%��6%

18 1B�/�B�Pค%��6%�5��6��%4N �?'6� %4 N AP12N�N2%># 1�B%5�1R 2�5�2�B����%4 50,000       50,000     50,000      �U6�/��CON�O6%N/# �%4�6��%N/# �1��6%0@�16
1U6N"1%N1� >�C'$R �%4N �?�O1��>P�O'4 #6�O�N1.%N1� >�C'$R (��N�>�1B�/�B�) (��N�>�1B�/�B�) (��N�>�1B�/�B�) �>��%%# �>��%%#N�>��6%#?

�6%�N1�N�?P$/�1� N AP1�U6N�>�Pค%��6% 2N/�%N/#
1U6N"1%N1� >�C'$R
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(&2#) (&2#) (&2#)

19 1B�/�B�Pค%��6%2%O6�"C#>คBO#�5��6�25�ค# N AP1Q/ON�O�O'4N$6/�� 2�5�2�B����%4#6� �U6�/��CON�O6%N/# N�>��6%#?2N/�%N/# �1��6%0@�16
Q�#>�>/5���%%# #?"C#>คBO#�5�Q��6% O�N2"6/5���%%#3 �>��%%# �%4�6��#?"C#>คBO#�5�

�U6N�>��?/>� N AP1�U6N�>��6% ค%1�ค%5/1�1BN�
�5��>��%%#1�%# �B#��N�O#O�O�
2 �>��%%# R�OO�N 25�ค#1$CN�?#?2B�
 - �6#1$N6�R�$ 15,000       15,000     15,000      

�Bค'>ค�? #?#6%$6� (��N�>�1B�/�B�) (��N�>�1B�/�B�) (��N�>�1B�/�B�)

 - %CON�N6�5�2AP1 15,000       15,000     15,000      

(��N�>�1B�/�B�) (��N�>�1B�/�B�) (��N�>�1B�/�B�)
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#?P Pค/��2//�>��//- /1!"B'/02�ค์
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.B#$022!/์�1�//1 #?P 3Oล04
 - .B#$022!/์�2/*1�%2�1�1'#.Q%N�!�1�//1 #?P 4
4. .B#$022!/์�2/*1�%2 O2%22$2/�C'P,คOล0Pค/�2/O2�*AQ%�2%
4.1 O%/#2��2/*1�%2 O2%�2/�N12/O2� '/1&'/B� & 2/B�/1�12"%% #2�N#O2 20*2% #N1/0&2.%Q 2/0&&ค-%2ค-�%2N�Q/O20 /�Oล0ค/1&คลB-#B�*AQ%#?P

2558 2559 2560

(&2#) (&2#) (&2#)

1 �N12%O6����ค2'.�6��6��6��O6��6� N AP1Q/O�%4�6��#? �N12%O6������6� -           147,000    -           %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
/62�6  'B$�5��%R�@��O6��6$�>Q� %5��/>�6 ����?PR�O#6�%�6� �>/�%6�%�/O6� 4  @� 1Q��1��%4 #?ค/6#24�/�
/#CN 12 Q�Oค#�6ค#25��% N#�% $6/ 66 N#�% �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�
(N2�1P�$�B#���O6��%?�6�1� - �6'@�)

2 �N12%O6�คC%4�6$�QU6�6��6�/5�N� �# N AP1Q/O�6%%4�6$�QU6 -           200,000    -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
N�A1� #?�%42>��>"6  '�  @� 1Q��1��%4 2>��>"6 #6��@Q�
(N2�1P�$�B#��/5�N� �#N�A1�) �T�/6�QU6�N/#�5� �6��Q� AQ��?P

3 �N12%O6��N1'1�N/'?P$#ค2'.�%>N/�26# N AP1Q/O�6%%4�6$�QU6 �N12%O6��N1'1�N/'?P$# -           350,000    -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
O$�PคO�0 �.N�0�6'�U6�'%N1� >�C'$R #?�%42>��>"6  '� ค2'.��6� 1.50x  @� 1Q��1��%4 2>��>"6 #6��@Q�
(N2�1P�$�B#��/5�N� �#N�A1�) �T�/6�QU6�N/#�5� 1.50 #. $6/ 7 #. �6��Q� AQ��?P
�%>N/��O6�����O6��6'@�
#B#PคO����N�AP1#/'5�N�6/5�N� �#N�A1�
(N2�1P�$�B#��/5�N� �#N�A1�)
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4 �N1#O�#O'4�B�คC%4�6$�QU6�6��6� N AP1Q/O�6%%4�6$�QU6 �N1#O�#O'4�B�คC 50,000       -          -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
�O6�06'6�6��'1�26$ #?�%42>��>"6  '� %4�6$�QU6Q��B��?P  @� 1Q��1��%4 2>��>"6 #6��@Q�
(N2�1P�$�B#��/5�N� �#N�A1�) �T�/6�QU6�N/#�5� �U6/�� �6��Q� AQ��?P

5 �%5��%B�คC%4�6$�QU6%1��'6�Q/#N N AP1Q/O�6%%4�6$�QU6 �%5��%B�คC%4�6$ 400,000     -          -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
(N2�1P�$�B#���O6��'6�Q/#N) #?�%42>��>"6  '� �QU6�%>N/�P�$%1�  @� 1Q��1��%4 2>��>"6 #6��@Q�

�T�/6�QU6�N/#�5� �'6�Q/#N �6��Q� AQ��?P

6 �N12%O6�คC%4�6$�QU6�6��'6�Q/#N - 2B� N AP1Q/O�6%%4�6$�QU6 �N12%O6�คC%4�6$ 300,000     -          -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
N��N�0�6'(/5�N���5##6%6#) #?�%42>��>"6  '� �QU6�6#O��O�'�  @� 1Q��1��%4 2>��>"6 #6��@Q�
(N2�1P�$�B#���O6��'6�Q/#N) �T�/6�QU6�N/#�5� �1�N�0�6' �6��Q� AQ��?P

7 �N12%O6����/'5�/5�2B/%%�%5�1?�4'B N AP1Q/O�6%ค#�6ค# �N12%O6����/>�ค'B� 297,000     -          -           %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
26$2/�N'6(�O6��6$P��> N2O�2B$)/#CN10 25��%R�#624�/� �>/�%6�%�/O6� 3 #.  @� 1Q��1��%4 #?ค/6#24�/�
(N2�1P�$�B#��/5�2B/%%�%5�1?) 2�6$#6��@Q� $6/ 330 N#�% �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�

8 �N12%O6����/>�ค'B��6��O6�1.�>ค#- N AP1Q/O�6%ค#�6ค# �N12%O6����/>�ค'B� 108,000     -          -           %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
�O6��6���'5�1�R �>��6�>' /#CN 10 25��%R�#624�/� �>/�%6�%�/O6� 3 #.  @� 1Q��1��%4 #?ค/6#24�/�
(N2�1P�$�B#��/5�2B/%%�%5�1?) 2�6$#6��@Q� $6/ 122 N#�% �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�
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9 �N12%O6�คC%4�6$�QU6�6����N1N�?$-/�O6 N AP1Q/O�6%%4�6$�QU6 �N12%O6�คC%4�6$ 400,000     -          -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
/5�2B/%%�%5�1?�5Q� 2 �TP���� #?�%42>��>"6  '� �QU6�6#O��O�'�  @� 1Q��1��%4 2>��>"6 #6��@Q�
(N2�1P�$�B#��/5�2B/%%�%5�1?) �T�/6�QU6�N/#�5� �1�N�0�6' �6��Q� AQ��?P

10 �B�N�>����26$�O6��6$N2/?$� N AP1Q/O�6%ค#�6ค# �N12%O6����/>�ค'B� 63,000       -          -           %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
(N2�1P�$�B#���O6��B6�# CN) 25��%R�#624�/� �>/�%6�%�/O6� 3  @� 1Q��1��%4 #?ค/6#24�/�

2�6$#6��@Q� N#�% $6/ 70 N#�% �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�

11 �N12%O6����ค2'.26$�/?/5��6 /#CN 5 N AP1Q/O�6%ค#�6ค# �N12%O6����ค2'. 830,000     -          -           %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
(N2�1P�$�B#���O6��B6�# CN) 25��%R�#624�/� ��6��>/�%6�%  @� 1Q��1��%4 #?ค/6#24�/�

2�6$#6��@Q� �/O6� 3 N#�%  $6/ �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�
495 N#�%

12 �N12%O6�คC%4�6$�QU6�1$�O6��BN�P/#P4 N AP1Q/O�6%%4�6$�QU6 �N12%O6�คC%4�6$ 300,000     -          -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
��N��1��. #?�%42>��>"6  '� �QU6�6#O��O�'�  @� 1Q��1��%4 2>��>"6 #6��@Q�
(N2�1P�$�B#���O6��B6�# CN) �T�/6�QU6�N/#�5� �1�N�0�6' �6��Q� AQ��?P

8
6

#?P Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI) (ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&



2558 2559 2560

(&2#) (&2#) (&2#)

13 �N12%O6����ค2'.26$�O6�คB��%4�>1�R N AP1Q/O�6%ค#�6ค# �N12%O6����ค2'. 498,000     -          -           %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
 - P%�$6�P�05��>T /#CN 13 25��%R�#624�/� �>/�%6�%�/O6� 4  @� 1Q��1��%4 #?ค/6#24�/�
(N2�1P�$�B#���O6��'6�N�1�%) 2�6$#6��@Q� N#�% $6/ 226 N#�% �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�

14 �N12%O6�คC%4�6$�QU6/'5�/5� >06'�&#>� N AP1Q/O�6%%4�6$�QU6 �N12%O6�คC%4�6$ 300,000     -          -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
�'1�O�/ #?�%42>��>"6  '� �QU6�6#O��O�'�  @� 1Q��1��%4 2>��>"6 #6��@Q�
(N2�1P�$�B#���O6��'6�N�1�%) �T�/6�QU6�N/#�5� �1�N�0�6' �6��Q� AQ��?P

15 �N12%O6�คC%4�6$�QU6�O6��C6'6�R��@� N AP1Q/O�6%%4�6$�QU6 �N12%O6�คC%4�6$ 400,000     -          -           -               �6%%4�6$�QU6#?�%4 �1��N6�
�O6�/#/�N�?$%�> #?�%42>��>"6  '� �QU6�6#O��O�'�  @� 1Q��1��%4 2>��>"6 #6��@Q�
(N2�1P�$�B#���O6��'6�N�1�%) �T�/6�QU6�N/#�5� �1�N�0�6' �6��Q� AQ��?P

16 �%5��%B��N1%4�6$�QU6/�O6N#%B/5� >06'3 N AP1Q/O�6%%4�6$�QU6 �%5��%B�คC%4�6$ 50,000       -          -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
(N2�1P�$�B#���O6��'6�N�1�%) #?�%42>��>"6  '� �QU6�6#O��O�'�  @� 1Q��1��%4 2>��>"6 #6��@Q�

�T�/6�QU6�N/#�5� �1�N�0�6' �6��Q� AQ��?P

8
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17 �N12%O6��N1%4�6$�QU6���26$P%�1>�2# N AP1Q/O�6%%4�6$�QU6 �N12%O6�คC%4�6$ 30,000       -          -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
/#6$�@�26$06'6R!R/#O #?�%42>��>"6  '� �QU6�6#O��O�'�  @� 1Q��1��%4 2>��>"6 #6��@Q�
(N2�1P�$�B#���O6�Pค�$6�) �T�/6�QU6�N/#�5� �1�N�0�6' �6��Q� AQ��?P

18 �N12%O6����O12!T'�R�>�ค1��%?�26$ N AP1Q/O�6%ค#�6ค# �N12%O6����O12 2,000,000  -          -           %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
N�6�O1$ - �%B�0@�16 25��%R�#624�/� !T'�R�>�ค1��%?�  @� 1Q��1��%4 #?ค/6#24�/�
(N2�1P�$�B#���O6�N�6�O1$-06'6�6�) 2�6$#6��@Q� ��6��>/�%6�% �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�

�/O6� 4 #.

$6/ 800 #.

19 �N12%O6����ค2'.26$�O6��6� %O1# N AP1Q/O�6%ค#�6ค# �N12%O6����ค2'. 190,000     -          -           %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
#5P�ค� 25��%R�#624�/� ��6��>/�%6�%  @� 1Q��1��%4 #?ค/6#24�/�
(N2�1P�$�B#���O6�N�6�O1$-06'6�6�) 2�6$#6��@Q� �/O6� 2.5 #. �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�

$6/ 137 #.

20 �N12%O6����ค2'.26$�O6��6��%42 N AP1Q/O�6%ค#�6ค# �N12%O6����ค2'. 150,000     -          -           %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
N��2�>�$R 25��%R�#624�/� ��6��>/�%6�%  @� 1Q��1��%4 #?ค/6#24�/�
(N2�1P�$�B#���O6�N�6�O1$-06'6�6�) 2�6$#6��@Q� �/O6� 3 N#�% �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�

$6/ 91 N#�%
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21 �N12%O6����ค2'.26$�O6��6$2# % N AP1Q/O�6%ค#�6ค# �N12%O6����ค2'. 183,000     -          -           %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
2B�2/52�>T 25��%R�#624�/� ��6��>/�%6�%  @� 1Q��1��%4 #?ค/6#24�/�

2�6$#6��@Q� �/O6� 4 N#�% �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�
$6/ 82 N#�%

22 �N12%O6�%6�%4�6$�QU626$/�O6�O6� N AP1Q/O�6%%4�6$�QU6 �N12%O6�%6�%4�6$ 300,000     -          -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
P�Nค/ #?�%42>��>"6  '� �QU6%C��5//? ค/6#  @� 1Q��1��%4 2>��>"6 #6��@Q�

�T�/6�QU6�N/#�5� $6/ 37 N#�% �6��Q� AQ��?P

23 �N12%O6�คC%4�6$�QU6�6��O6�/5�R�%�@� N AP1Q/O�6%%4�6$�QU6 �N12%O6�คC%4�6$ 1,000,000  -          -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
24 6�N�6�O1$ #?�%42>��>"6  '� �QU6�6#O��O�'�  @� 1Q��1��%4 2>��>"6 #6��@Q�
(N2�1P�$�B#��/5�R�%) �T�/6�QU6�N/#�5� �1�N�0�6' �6��Q� AQ��?P

24 �N12%O6�คC%4�6$�QU621��O6����26$ N AP1Q/O�6%%4�6$�QU6 �N12%O6�คC%4�6$ 1,000,000  -          -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
�O6��6P �>T - /5�R�% #?�%42>��>"6  '� �QU6�6#O��O�'�  @� 1Q��1��%4 2>��>"6 #6��@Q�
(N2�1P�$�B#��/5�R�%) �T�/6�QU6�N/#�5� �1�N�0�6' �6��Q� AQ��?P

25 �N12%O6�คC%4�6$�QU6�6�ค124 6��@� N AP1Q/O�6%%4�6$�QU6 �N12%O6�คC%4�6$ 1,000,000  -          -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
�O6�06'6�6� #?�%42>��>"6  '� �QU6�6#O��O�'�  @� 1Q��1��%4 2>��>"6 #6��@Q�
(N2�1P�$�B#���O6�N�6�O1$-06'6�6�) �T�/6�QU6�N/#�5� �1�N�0�6' �6��Q� AQ��?P
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26 �N12%O6��N1%4�6$�QU6/�O6�O6� ?PN�?R$� N AP1Q/O�6%%4�6$�QU6 �N12%O6��N1%4�6$ 400,000     -          -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
(N2�1P�$�B#��/5�R�%) #?�%42>��>"6  '� �QU6�6#O��O�'�  @� 1Q��1��%4 2>��>"6 #6��@Q�

�T�/6�QU6�N/#�5� �1�N�0�6' �6��Q� AQ��?P

27 �N1/>�$6O�/ค'1��6�N%?$/(2N/��?PN/'A1) N AP1Q/O#?2"6 2/$ �N12%O6�ค5�/>� -           600,000    -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
(N2�1P�$�B#���O6��'6�Q�-�6�N%?$/) �6#O'4%4�6$�QU6 $6O�/$6/ 300#.  @� 1Q��1��%4 2>��>"6 #6��@Q�

R�O�? �6��Q� AQ��?P

28 �N12%O6�คC%4�6$�QU621��O6��6����26$ N AP1Q/O�6%%4�6$�QU6 �N12%O6�คC%4�6$ -           800,000    -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
06'N�O6 %4 108 #?�%42>��>"6  '� �QU6�6#O��O�'�  @� 1Q��1��%4 2>��>"6 #6��@Q�
(N2�1P�$�B#���O6��'6�%N1� >�C'$R) �T�/6�QU6�N/#�5� �1�N�0�6' �6��Q� AQ��?P

29 �T��N1%4�6$�QU6���26$�O6�2�.N1Q N AP1Q/O�6%%4�6$�QU6 �T��N1%4�6$�QU6 -           20,000     -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
(N2�1P�$�B#���O6��B6�# CN) #?�%42>��>"6  '� ��6�  @� 1Q��1��%4 2>��>"6 #6��@Q�

�T�/6�QU6�N/#�5� �6��Q� AQ��?P
30 �N12%O6���� %O1#�N1%4�6$�QU6/�O6 N AP1Q/O�6%ค#�6ค# �N12%O6��N1%4�6$ -           200,000    -           %O1$'4�1�ค/6# �6%ค#�6ค#O'4 �1��N6�

�O6��6$2B�>� N O�2B� O'4�6%%4�6$�QU6 �QU6�6#O��O�'�  @� 1Q��1��%4 �6%%4�6$�QU6#?
(N2�1P�$�B#���%?�6�1�-�6'@�) 24�/�#6��@Q� �1�N�0�6' �6��Q� AQ��?P �%42>��>"6 #6��@Q�
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31 �U6N�>�'C�%4�6� N AP1'�15�%6�6%N�>�  - �'1�O�//�O6 20,000       20,000     20,000      15�%6�6%N�>�1B�5�> 26#6%�'�15�%6 �1��N6�
(N2�1P�$�B#���O6��'6�N�1�%,N�6�O1$1B�5�>N/�B�6��6%�5� 2/�%�RN�6�O1$ N/�BQ��B#�� �6%N�>�1B�5�>N/�BR�O
06'6�6�,/5�R�%,�6P �>T3,�'6�%N1�3) �?P 6/�4�N6� N  - 26#O$��O6�

�6$/B�>(06'6�6�)

 - �B#��/5�R�%
�'1�26$
 - /�O6�O6��C6�6�
(�6P �>T)
 - ���26$/'5�
06'N�O6 %4108

 - /�O6�O6�ค%CO�O/
�'6�N�1�%
 - /�O6N#%B/5� >06'
�&#>�

3'3
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32 Pค%��6%�U6%B�%5�16%4��%4�6$�QU6 N AP1N�O��6%�C1��5� �B� '1� �U6ค/6# 200,000     200,000    200,000     %O1$'4�1�ค/6# �6%%4�6$O'4R/' �1��N6�
"6$Q�N��N�0�6' R#NQ/O�N1 คC ค'1� 2416�คC%4�6$�QU6  @� 1Q��1��%4 N/?$��1��QU6N�O�R�
(N2�1P�$�B#���O6��'6�Q/#N,2B/%%� %6�%4�6$�QU61B��5� ค'1� �N1 %6�%4�6$ �6��Q� AQ��?P 1$N6�#?�%42>��>"6 
%5�1?,�O6�/5�R�%,�O6��6P �>T,�O6��'6� O'4�AQ�N�>� �C1��5� �QU6"6$Q�N��N�0�6' R#NN�>��QU6�N/#�5�Q�
Q�-�6�N%?$/) �QU6�N/#�5�Q�&�C�� &O2%!ล2 Q/-N &�C��

 - �.N �%N�1#24 

 - %>#�.N �%N�1#  
 - P%��C��6/
�6�'4N1?$�
 - �O6�ค%C/#@�
2B///�/1�1?
 - �6��6$�QU6/�O6
/5��@��O6�ค/�2?
&O2%/1�R#/
 - ค'1��./5�R�%N�N6

 - คC�QU6/�O6�O6�
�6$2/52�>T N��2�>�$R
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&O2%%2P*$>N/
 - ค'1�/�O6�O6� ?P%52
 - ค'1�/'5��O6��O6��
&O2%!ล2 Q%-�2%N/?./
 - ค'1��6�N%?$/
 - /'B#N/#A1�N�N6
1AP% N 
 - �O6��O6��6�
 %%�?-24 6��1
 - คC%4�6$�QU626#
O$�0 �.-24 6�
N%A1�
 - คC%4�6$�QU6/'5�
�'6�Q/#N-�.�6P �>T

3'3
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33 '6�O12!T'�R %O1#��O�N��1�คC%4�6$�QU6 N AP1Q/O#?�50�?$"6 �?P '6�O12!T'�RO'4��O�N� 500,000         -          -           %O1$'4�1�ค/6# �'6�%N1� >�C'$R#? �1��N6�
Q��'6�%N1� >�C'$R 2/$�6# �1�คC%4�6$�QU6Q��%>N/�  @� 1Q��1��%4 �50�?$"6 �?P2/$

�?P�U6/�� �6��Q� AQ��?P �6#

34 �N12%O6��N1'1�N/'?P$#ค2'.�N6���� N AP1Q/O�6%%4�6$�QU6#? ��6��/O6� 1.80 x 1.80 x 960,000        -          -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
�%#�6�/'/�26$%N1� >�C'$R - �BN�2� �%42>��>"6  '��T�/6 9.00 N#�%��>� 2 �N1��6�  @� 1Q��1��%4 2>��>"6 #6��@Q�
�%>N/�/�O62�6��?P�N12%O6�2U6�5��6� �QU6�N/#�5� �O6$�/6 (21��TP����) �6��Q� AQ��?P
N�0�6'O/N�Q/#N #.13

35 �N12%O6��N1'1�N/'?P$#ค2'.��� N AP1Q/O�6%%4�6$�QU6Q� �N12%O6��N1'1�N/'?P$#ค2'. -           205,000        -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
26$ค'1�N'?$�%6�%�R! N��N�0�6'#?�%42>��> ��6� (1.50*1.50)+  @� 1Q��1��%4 2>��>"6 #6��@Q�
(�O6�/5�R�%)  #. 7 "6 '��T�/6�QU6�N/#�5� (1.50*1.50)N#�% �6��Q� AQ��?P

 $6/ 6.00 N#�%

36 ���ค2'.26$�O6��6$�>%5��%R N AP1Q/O�%4�6��#?��� �N12%O6����O12!T'�R�>� 300,000     -          -           %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
(/�O6P%�%#$6�) #. 7 �?PR�O#6�%�6�Q�Oค#�6 ค1��%?� �/O6� 3.00 N#�%   @� 1Q��1��%4 #?ค/6#24�/�

ค#25��% $6/ 160 N#�% �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�
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37 �N12%O6����O12!T'�R�>�ค1��%?�26$ N AP1Q/O�%4�6��26#6%�Q�O�N12%O6����O12!T'�R�>� 790,000        -          -           %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
�6�N�O6/'B#�$4 #.12 25��%R�#6R�O1$N6�24�/� ค1��%?� �/O6� 4 N#�%  @� 1Q��1��%4 #?ค/6#24�/�

$6/ 440 N#�% �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�

38 �N12%O6��B��'5�%�(U-TURN)�%>N/� N AP1Q/O�%4�6��#?ค/6# �N12%O6��B��'5�%� %O1#�>� 4,000,000     -          -           %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
/�O62�6��?P�N12%O6�2U6�5��6�N�0�6' �'1�"5$Q��6%ค#�6ค#�5Q��C6$�%6�% R!�%4 %>�  @� 1Q��1��%4 #?ค/6#24�/�
O/N�Q/#N %O1#R!2N1�2/N6� #.13 25��% Pค#N/'O� %O1#Pค#R!2N1� �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�

2/N6�N�64�'6�����N1�6�

2N/�N�>#�6�2?PO$�%N1� >�C'$R

�6#O��O�'�#6�%�6��%#

�6�/'/�O'4��.%N1� >�C'$R

39 �N12%O6����ค1��%?�N2%>#N/'O� N AP1Q/O�%4�6��26#6%�Q�O�N12%O6����ค2'. -           2,680,000      -           %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
�%>N/�%1�/'B#�$4N�0�6' #. 12 25��%R�#6R�O1$N6�24�/� ��6��/O6� 4.50 #.  @� 1Q��1��%4 #?ค/6#24�/�

$6/ 1,195 #. �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�
40 �N12%O6��B�N�>����26$�O6��O6��6$P��> N AP1Q/O�%4�6��26#6%�Q�O�B�N�>����/>�ค'B� 100,000     -          -           %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�

 %/#O�O/�����26$/6%O�� #.7 25��%R�#6R�O1$N6�24�/� �>/�%6�%�/O6�4#.  @� 1Q��1��%4 #?ค/6#24�/�
$6/ 125 #./6��N1 �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�
12 �N1�
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41 Pค%��6%%AQ1�1�16ค6%2B�6">�6'N�N6 N AP1Q/ON�O�R��6#O�/ %AQ1�1�16ค6%2B�6"> 200,000         -          -           %O1$'4�1�ค/6# '�ค/6#N2?P$��6� �1��N6�
�6���>�5�>�1��%# �6'N�N6 �6#�?PN�0�6'  @� 1Q��1��%4 15��%6$�?P16�N�>�
��6%5�1R �U6/�� �6��Q� AQ��?P �6�16ค6%N�N6

42 �N12%O6����ค2'./'5��?P�U6�6%�B#�� N AP1Q/O�%4�6��#?��� �N12%O6����ค2'. -                   330,000        -           %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
�O6��%?�6�1�-�6'@� #.7 �?PR�O#6�%�6�Q�Oค#�6 �/O6� 4 #. $6/ 150 #.  @� 1Q��1��%4 #?ค/6#24�/�
(N2�1P�$�B#���O6��%?�6�1�-�6'@��?56) ค#25��% �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�

43 �N12%O6����ค2'.26$�O6�/6%O�� - �O6� N AP1Q/O�%4�6��#?��� �N12%O6����ค2'. -                2,611,000 -           %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
�6P �>T #.14 �?PR�O#6�%�6�Q�Oค#�6 �/O6� 4 N#�% $6/ (�1��1��.)  @� 1Q��1��%4 #?ค/6#24�/�
(N2�1P�$�B#���6P �>T-/�1�คC�5��?56) ค#25��% 1,100 #./�6 0.15 #. �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�

44 �N12%O6�����B�N�>�26$/5/24 6�/�O6 N AP1Q/O�%4�6��#?��� �N12%O6�����B�N�>� -           300,000    -           %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
/5�2B/%%�%5�1?N�AP1#���ค/�2? #.10 Q�Oค#�6ค#25��% �>/�%6�%/>�ค'B� �/O6�  @� 1Q��1��%4 #?ค/6#24�/�
(N2�1P�$�B#��2B/%%�%5�1?�?56) 3 N#�% $6/ 400 #. �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�

45 �#/>�ค'B�����O6��O6��CO�N/$�COQ/�N�O6� N AP1Q/O�%4�6��#?��� �#/>�ค'B��%>N/���� -           20,000     -           %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
�B��>� #.10 Q�Oค#�6ค#25��% $6/�%4#6� 50 #.  @� 1Q��1��%4 #?ค/6#24�/�
(N2�1P�$�B#��2B/%%�%5�1?�?56) �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�
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46 �N12%O6����ค2'.26$2/�16/6%/5�R�% N AP1Q/O�%4�6��#?��� �N12%O6����ค2'.�/O6� -           -          300,000     %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
�@��O6��6$�CN�?$ #.7 �?PR�O#6�%�6�Q�Oค#�6 3 N#�% $6/ 165 N#�%  @� 1Q��1��%4 #?ค/6#24�/�
(N2�1P�$�B#���O6�/5�R�%�? 56) ค#25��% �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�

47 �N12%O6�คC%4�6$�QU6�6�2?PO$�%N1� >�C'$R N AP1Q/O�6%%4�6$�QU6Q�N���N12%O6��N1%4�6$�QU6 -           -          1,500,000  %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
�@�24 6�N�A1� (N2�1P�$�B#���B6�# CN, N�0�6'#?�%42>��>"6 ��6�N2O��0�.40 �#.  @� 1Q��1��%4 2>��>"6 #6��@Q�
�B#���'6�Q�-�6�N%?$/�? 54) '��T�/6 �QU6�N/#�5�  %O1#�N1 5�ค2' . �6��Q� AQ��?P

48 �T��N1%4�6$�QU6O'4�#�>�R/'N�6�26$ N AP1Q/O�6%%4�6$�QU6Q� �T��N1%4�6$�QU6ค2'. -              400,000      -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
�'6�Pค�$6� - /5�2B/%%�%5�1? #.10 N��N�0�6'#?�%42>��> O'4�#�>�R/'N�6�  @� 1Q��1��%4 2>��>"6 #6��@Q�
(N2�1P�$�B#��2B/%%�%5�1? �?56) "6 �6��Q� AQ��?P

49 �N12%O6����ค2'.26$�1$�O6��6$�# N AP1Q/O�%4�6��26#6%�Q�O��6��/O6� 3 N#�% -           -          300,000     %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
(/�1�N�O�) #.7 25��%R�#6R�O1$N6�24�/� $6/ 150 N#�%  @� 1Q��1��%4 #?ค/6#24�/�
(N2�1P�$�B#���O6�N�6�O1$�?55) �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�
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50 �N12%O6�คC%4�6$�QU6�%>N/�O�/��6%�6�#.12 N AP1Q/O�6%%4�6$�QU6Q� �N12%O6�คC%4�6$�QU6ค2'. -                320,000        -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
(N2�1P�$�B#���O6��'6�N�1�% �?56) N��N�0�6'#?�%42>��> %4$4�6�$6/ 260  @� 1Q��1��%4 2>��>"6 #6��@Q�

"6 N#�% �6��Q� AQ��?P
51 �N12%O6� AQ�%1$�N1���26$�%?�6�1� - N AP1Q/O�%4�6��26#6%�Q�O �N12%O6������6� -           -          20,000      %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�

�O6��6'@� #.7 25��%R�#6R�O1$N6�24�/� �/O6� 5.00 N#�%  @� 1Q��1��%4 #?ค/6#24�/�
(N2�1P�$�B#���O6��%?�6�1�-�6'@��?55) $6/ 10 N#�% �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�

52 �N12%O6����ค2'.�6��O6��O6��6$2/� N AP1Q/O�%4�6��26#6%�Q�O�/O6� 2.5 N#�% -           -          400,000     %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
�1� %/#R�11��O6��6��>� #.10 25��%R�#6R�O1$N6�24�/� $6/ 300 N#�%  @� 1Q��1��%4 #?ค/6#24�/�
(N2�1P�$�B#���O6�Pค�$6��?55) �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�

53 �N12%O6����ค2'.26$�O6��6$ 5� #5P�ค� N AP1Q/O�%4�6��26#6%�Q�O�/O6� 3 N#�% -           -          400,000     %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
�6�1O� ">%#$R%2 #.10 25��%R�#6R�O1$N6�24�/� $6/ 150 N#�%  @� 1Q��1��%4 #?ค/6#24�/�
(N2�1P�$�B#���O6�Pค�$6��?55) �6��Q� AQ��?P �'1�"5$#6�$>P��@Q�

54 �B�N�>����26$�O6��6$N�?$/���O6� N AP1Q/O�%4�6��26#6%�Q�O�B�N�>���� �/O6� -           -          700,000     %O1$'4�1�ค/6# �6%ค#�6ค#25��% �1��N6�
�6$ A� #.10 (N2�1P�$�B#���O6�Pค�$6��?55) 25��%R�#6R�O1$N6�24�/� 6.00 #. $6/ 900 #.  @� 1Q��1��%4 #?ค/6#24�/�

�6��Q� AQ��?P �'1�"5$#6�$>P��@Q�
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55 �N12%O6�คC%4�6$�QU6�6��O6��6$�U6�? N AP1Q/O�6%%4�6$�QU6Q� �N12%O6�คC%4�6$�QU6 -           -          150,000     %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
 5���%5 $R N�AP1#�N1คC%4�6$�QU6N�N6 N��N�0�6'#?�%42>��> ค2'.%4$4�6�$6/  @� 1Q��1��%4 2>��>"6 #6��@Q�
/'5��O6��6$N/'A1 #.13 "6 120 N#�% �6��Q� AQ��?P
(N2�1P�$�B#���O6��'6�N�1�%�?56)

56 �N12%O6�คC%4�6$�QU6 %O1#�6�>��6� N AP1Q/O�6%%4�6$�QU6Q� �N12%O6�คC%4�6$�QU6 -           -          150,000     %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
26#O$��O6��6�/>'60 �O/�Q2 �N6��O6� N��N�0�6'#?�%42>��> ค2'.%C��5//? %O1#  @� 1Q��1��%4 2>��>"6 #6��@Q�
�.2.�.2#ค/%-1.N O��%4"6  �5$%5��R�� "6 �6�>� �6��Q� AQ��?P
���/O6O$�/'5�/5� >06'�&#>� #.13

(N2�1P�$�B#���O6��'6�N�1�%�?56)

57 �N12%O6��N12%O6�คC%4�6$�QU6�6��O6� N AP1Q/O�6%%4�6$�QU6Q� �N12%O6�คC%4�6$�QU6 -              -          160,000     %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
/#/��6��N6����/�2R!C6  - O2/�ค6%R N��N�0�6'#?�%42>��> ค2'.%4$4�6�$6/  @� 1Q��1��%4 2>��>"6 #6��@Q�
Oค%R �@��6�N�O6/'B#�$4 #.12 "6 430 N#�% �6��Q� AQ��?P
(N2�1P�$�B#���'6�%N1� >�C'$R �?56)
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58 �N12%O6�คC%4�6$�QU6�6��O6��6��%520%? N AP1Q/O�6%%4�6$�QU6Q� �N12%O6�คC%4�6$�QU6 -                 150,000      -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
�@��O6��6�2B/%%�6 �%%$6�6#  #.12 N��N�0�6'#?�%42>��> ค2'.%4$4�6�$6/  @� 1Q��1��%4 2>��>"6 #6��@Q�
(N2�1P�$�B#���'6�%N1� >�C'$R �?56) "6 120 N#�% �6��Q� AQ��?P

59 �N12%O6�คC%4�6$�QU6�6��O6�P���คR N AP1Q/O�6%%4�6$�QU6Q�N���N12%O6�คC%4�6$�QU6 -              800,000 -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
�@�/'5�O2/�ค6%ROค%R #.12 N�0�6'#?�%42>��>"6 ค2'.%4$4�6�$6/  @� 1Q��1��%4 2>��>"6 #6��@Q�
(N2�1P�$�B#���'6�%N1� >�C'$R �?56)  560 N#�% �/O6� 4 �6��Q� AQ��?P

N#�%

60 �N12%O6�%6�%4�6$�QU6�%>N/��O6� 5� N AP1Q/O�6%%4�6$�QU6Q� �N12%O6�%6�%4�6$�QU6 -              40,000        -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
�U6%/�%.%.�%B�0@�16 #.7 N��N�0�6'#?�%42>��> ค2'.%4$4�6�  @� 1Q��1��%4 2>��>"6 #6��@Q�
(N2�1P�$�B#���O6�N�6�O1$ �?56) "6 $6/ 20 N#�% �6��Q� AQ��?P

61 �T��N1%4�6$�QU6O'4�#�>�R/'N�6�26$ N AP1Q/O�6%%4�6$�QU6Q� �T��N1%4�6$�QU6ค2'. -              400,000      -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
�'6�Pค�$6� - /5�2B/%%�%5�1? #.10 N��N�0�6'#?�%42>��> O'4�#�>�R/'N�6�  @� 1Q��1��%4 2>��>"6 #6��@Q�
(N2�1P�$�B#��2B/%%�%5�1? �?56) "6 �6��Q� AQ��?P

62 �N12%O6�คC%4�6$�QU6�%>N/�O�/��6%�6�#.12 N AP1Q/O�6%%4�6$�QU6Q� �N12%O6�คC%4�6$�QU6ค2'. -                320,000        -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
(N2�1P�$�B#���O6��'6�N�1�% �?56) N��N�0�6'#?�%42>��> %4$4�6�$6/ 260  @� 1Q��1��%4 2>��>"6 #6��@Q�

"6 N#�% �6��Q� AQ��?P

1
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0
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63 �B�'1�คCค'1�/�O6�O6��6$2B�>� #.7 N AP1Q/O�6%%4�6$�QU6Q� %4$4�6�$6/%/# -           50,000     -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
(N2�1P�$�B#���O6��%?�6�1�-�6'@��?55) N��N�0�6'#?�%42>��>  300 N#�%  @� 1Q��1��%4 2>��>"6 #6��@Q�

"6 �6��Q� AQ��?P
64 �N12%O6��N1%4�6$�QU6�%>N/�06'N�O6 %4 N AP1Q/O�6%%4�6$�QU6Q� �N12%O6��N1%4�6$�QU6 -           -          1,000,000  %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�

108-%O6�คO6Q�O�O�#4�6#�'1�O�/ #.12 N��N�0�6'#?�%42>��> ค/6#$6/ 380 N#�%  @� 1Q��1��%4 2>��>"6 #6��@Q�
(N2�1P�$�B#���'6�%N1� >�C'$R�?55) "6 �6��Q� AQ��?P

65 �$6$�N1%4�6$�QU6�6�/�O6/>�N�N6�@�คC N AP1Q/O�6%%4�6$�QU6Q� ��6��/O6� 1.00 N#�% -           500,000    -           %O1$'4�1�ค/6# �6%%4�6$�QU6#?�%4 �1��N6�
%4�6$�QU6/�O6%O6��1� #.12 N��N�0�6'#?�%42>��> $6/ 400 N#�%  @� 1Q��1��%4 2>��>"6 #6��@Q�
(N2�1P�$�B#���'6�%N1� >�C'$R�?55) "6 �6��Q� AQ��?P

1
0
1

#?P Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI) (ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&



4.2 O%/#2��2/*1�%2 O2%�2/'/1&'/B� �.2.N�!Oล0!> !1Q�R++O222$2/�0Q/O#1P/"@�

2558 2559 2560

(&2#) (&2#) (&2#)

1 �$6$N��R!!C626�6%�4 N AP1Q/O�%4�6��#? 1B�/�B����%4#6� 1,000,000  1,000,000 1,000,000  %O1$'4�1�ค/6# �%4�6��#?R!!C6 �1��N6�
(N2�1P�$�B#���O6��B6�# CN,�B#���O6� R!!C626�6%�4Q�O O�N�!".%N1� >�C'$R  @� 1Q��1��%4 Q�O1$N6��5P/�@�
�'6�N�1�%,�B#���O6�Pค�$6�,�B#�� 1$N6��5P/�@� Q��6%�$6$N��R! �6��Q� AQ��?P
�O6�N�6�O1$ 06'6�6�,�B#��/5�R�%, !C626�6%�4
�B#���O6��'6�Q� �6�N%?$/)  - /�O6�O6�'B�#5P�

%4$4�6� 500 #.

 - ���ค1��%?�
/'5�/5� >06'3
 - ���ค1��%?�
N'?$��U6O �%.%./5�
 >06'3
 - P%�1>�2#/#6$
R��@�/�O6�O6��6ค%B�

 - O�/�O6��6$2/52�>T

/?%4�%4N2%>��B'
 - /�O6�O6�/�1��>�

 - �6�N�O6/5��?��%4�>1�R

1
0
2

#?P Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI) (ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&



2558 2559 2560

(&2#) (&2#) (&2#)

 - ���/�O6P%��N#

$6�
 - �B#���O6��B6�# CN

 - ���26$N�6�>P/
 - ����1$�O6�
$6$N�?Q$� 100 #.

3'3

1
0
3

#?P Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI) (ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&



4.3 O%/#2��2/*1�%2-�1 /2%Q 2N*AP1QชOQ%�2/1B'P,ค&/>P,ค

2558 2559 2560

(&2#) (&2#) (&2#)

1 /6��N1%4��2N��QU6N AP1�6%N�1�% N AP1Q/O�%4�6��#?�QU6 /6��N1%4��2N��QU6N AP1 300,000     -          -           %O1$'4�1�ค/6# �%4�6��#?�QU62416� �1��N6�
26$�O6��O6$N%A1 #.12 2416�1B�P"ค�%>P"ค1$N6��6%N�1�%%4$4�6�  @� 1Q��1��%4 1B�P"ค�%>P"ค1$N6�

(N2�1P�$�B#���'6�%N1� >�C'$R) N ?$� 1�B�ค%5/N%A1� %/# 1,458 #. �6��Q� AQ��?P N ?$� 1�B�ค%5/N%A1�

2 /6��N1%4��2N��QU6N AP1�6%N�1�% N AP1Q/O�%4�6��#?�QU6 /6��N1%4��2N��QU6N AP1 300,000     -          -           %O1$'4�1�ค/6# �%4�6��#?�QU62416� �1��N6�
26$2?PO$�N�6�>P/ - �O6��%?�6�1� #.12 2416�1B�P"ค�%>P"ค1$N6��6%N�1�%%4$4�6�  @� 1Q��1��%4 1B�P"ค�%>P"ค1$N6�

(N2�1P�$�B#���%?�6�1�3) N ?$� 1�B�ค%5/N%A1� %/# 1,646 #. �6��Q� AQ��?P N ?$� 1�B�ค%5/N%A1�

3 /6��N1%4��2N��QU6N AP1�6%N�1�% N AP1Q/O�%4�6��#?�QU6 /6��N1%4��2N��QU6N AP1 150,000     -          -           %O1$'4�1�ค/6# �%4�6��#?�QU62416� �1��N6�
26$�O6��6'@� #.7 2416�1B�P"ค�%>P"ค1$N6��6%N�1�%%4$4�6�  @� 1Q��1��%4 1B�P"ค�%>P"ค1$N6�

(N2�1P�$�B#���%?�6�1�3) N ?$� 1�B�ค%5/N%A1� %/# 645 #. �6��Q� AQ��?P N ?$� 1�B�ค%5/N%A1�

4 /6��N1%4��2N��QU6N AP1�6%N�1�% N AP1Q/O�%4�6��#?�QU6 /6��N1%4��2N��QU6N AP1 300,000     -          -           %O1$'4�1�ค/6# �%4�6��#?�QU62416� �1��N6�
26$26#O$�ค'AP�/>�$BFM99 - /5�N� 2416�1B�P"ค�%>P"ค1$N6��6%N�1�%%4$4�6�  @� 1Q��1��%4 1B�P"ค�%>P"ค1$N6�

�#N�A1� #.7 N ?$� 1�B�ค%5/N%A1� %/# 1,335 #. �6��Q� AQ��?P N ?$� 1�B�ค%5/N%A1�

5 /6��N1%4��2N��QU6N AP1�6%N�1�% N AP1Q/O�%4�6��#?�QU6 /6��N1%4��2N��QU6N AP1 400,000     -          -           %O1$'4�1�ค/6# �%4�6��#?�QU62416� �1��N6�
26$/�O6%.%.�%B�0@�16-�O6��6P �>T #.7 2416�1B�P"ค�%>P"ค1$N6��6%N�1�%%4$4�6�  @� 1Q��1��%4 1B�P"ค�%>P"ค1$N6�

N ?$� 1�B�ค%5/N%A1� %/# 1,790 #. �6��Q� AQ��?P N ?$� 1�B�ค%5/N%A1�

1
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4

#?P Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI) (ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&



2558 2559 2560

(&2#) (&2#) (&2#)

6 /6��N1%4��2N��QU6N AP1�6%N�1�% N AP1Q/O�%4�6��#?�QU6 /6��N1%4��2N��QU6N AP1 120,000     -          -           %O1$'4�1�ค/6# �%4�6��#?�QU62416� �1��N6�
26$�'6�Pค�$6� #.10 2416�1B�P"ค�%>P"ค1$N6��6%N�1�%%4$4�6�  @� 1Q��1��%4 1B�P"ค�%>P"ค1$N6�

(N2�1P�$�B#���O6�Pค�$6�) N ?$� 1�B�ค%5/N%A1� %/# 550 #. �6��Q� AQ��?P N ?$� 1�B�ค%5/N%A1�

7 %4���%4�6�B#���O6��'6�Q/#N-N�6�O1$ N AP1Q/O�%4�6��#?�QU6 2U6%/�O/'N��QU6 11� 2,000,000  4,000,000 4,000,000  %O1$'4�1�ค/6# �%4�6��#?�QU62416� �1��N6�
(N2�1P�$�B#���O6��'6�Q/#N,�B#�� 2416�1B�P"ค�%>P"ค1$N6�O��-�N12%O6�P%�  @� 1Q��1��%4 1B�P"ค�%>P"ค1$N6�

06'6�6�-N�6�O1$) N ?$� 1�B�ค%5/N%A1� �'>� �%1�O'4 �6��Q� AQ��?P N ?$� 1�B�ค%5/N%A1�

�N6$�QU6
8 O�O�T�/6�QU61B�P"ค�%>P"ค N AP1Q/O�%4�6��#? �5�/6 %O1$'4�1�ค/6# �%4�6��#?�QU62416� �1��N6�/

(N2�1P�$�B#��2B/%%�%5�1?,�B#��Pค� �QU61B�P"ค�%>P"ค  -�5��%1�2�>#N/'O� 30,000       -          -            @� 1Q��1��%4 1B�P"ค�%>P"ค1$N6� 2�.

$6�,�B#��/5�R�%) 1$N6�N ?$� 1 ��6� 12 ค>/ (�B#��2B/%%�%5�1?) �6��Q� AQ��?P N ?$� 1�B�ค%5/N%A1� (�6� 5��6�B#��)

�B#��Pค�$6�  -Nค%AP1��%1��QU6�AP#
�B#�� 2 Nค%AP1� 40,000       -          -           

�B#��/5�R�%  - Nค%AP1��%1��QU6
�U6�/� 1 Nค%AP1� 20,000       -          -           

9 �$6$N���%4�6 N AP1Q/O�%4�6��#? 2�5�2�B����%4 200,000     200,000    200,000     %O1$'4�1�ค/6# �%4�6��#?�QU62416� �1��N6�
�QU61B�P"ค�%>P"ค #6�O�N��".Q��6%  @� 1Q��1��%4 1B�P"ค�%>P"ค1$N6�

1$N6�N ?$� 1 �$6$N���%4�6 �6��Q� AQ��?P N ?$� 1�B�ค%5/N%A1�

1
0
5

#?P

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI) (ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&

Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)



2558 2559 2560

(&2#) (&2#) (&2#)

10 Pค%��6%N�64�QU6�6�6' N AP1Q/O�%4�6��#? �B�N�64�N1�QU6 1,000,000  1,000,000 1,000,000  %O1$'4�1�ค/6# �%4�6��#?�QU62416� �1��N6�
(�1���%4#6��%>/6%�5��6%�QU6�6� �QU61B�P"ค�%>P"ค �6�6' Q� AQ��?P (��.1��.�0.) (��.1��.�0.) (��.1��.�0.)  @� 1Q��1��%4 1B�P"ค�%>P"ค1$N6�

1��.�ค%0%?�%%#%6�) 1$N6�N ?$� 1 �?P#?ค/6#�U6N�O�/�6� �6��Q� AQ��?P N ?$� 1�B�ค%5/N%A1�

Oค'��QU61B�P"ค
�%>P"ค

11 /6�%4���%4�6/#CN�O6��6�/5/24 6� N AP1Q/O�%4�6��#? N�>��N1�%4�6��6� 100,000     -          -           %O1$'4�1�ค/6# �%4�6��#?�QU62416� �1��N6�
'1$/�O6/O1�O�/�O6�Pค�$6� - �O6� �QU61B�P"ค�%>P"ค Ø 2 �>Q/ �6#%4$4  @� 1Q��1��%4 1B�P"ค�%>P"ค1$N6�

�6$N�  - �O6��6$/? /#CN 10 1$N6�N ?$� 1 �6�/�B��?P�U6/�� �6��Q� AQ��?P N ?$� 1�B�ค%5/N%A1�

1
0
6

#?P Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI) (ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&



4.4 O%/#2��2/*1�%22N�N2/>-/0&&�2//2�(1�N-A1� 2/%22$2/�0Oล0�2/'/1&'/B�,C->#10%์Q%#O1�">P%

2558 2559 2560

(&2#) (&2#) (&2#)

1 �%5��%B�"C#>�50�R N AP1Q/ON�0�6'�U6�'  - �O6�N/#6�Bค'6�% 1,000,000  1,000,000 1,000,000  ค/6# @� 1Q��1�2"6 "C#>�50�R�1� �1��N6�
%N1� >�C'$R#?2"6 Q��6%�%5��%B�"C#> �%4�6���N1 N�0�6'#?ค/6#2/$
"C#>�50�R�?P2/$�6# �50�R"6$Q�N��N�0 2"6 "C#>�50�R �6# O'4N�O�%4N�?$�

�6' P�$%/# N%?$�%O1$

2 �5��U6�%4�6ค#N%AP1��5�N#A1��B#�� N AP1%4�#ค/6#ค>�N/O� �5��%4�B#�%4�6ค# 20,000       20,000     20,000      �U6�/��CON�O6%N/# N�0�6'#?�5�N#A1� �1��N6�
Q��6%�5��U6�5�N#A1� P�$#?�'BN#N�C6/#6$ �%4�B#�%4�6ค# �B#���?PR�O#6�%�6�
�B#��  40 - 50 ค�

1
0
7

#?P Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI) (ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&



.B#$022!/์�1�//1 #?P 5
 - .B#$022!/์�2/*1�%2�1�1'#.Q%N�!�1�//1 #?P 5
5. .B#$022!/์�2/*1�%2 O2%�2/&/>/2/�1 �2/#?P ?
5.1 O%/#2��2/2/O2�/0&&�2/&/>/2/�1 �2/Oล0�2/'�>&1!>�2%#?P-?'/02>#$>,2*

2558 2559 2560

(&2#) (&2#) (&2#)

1 �%5��%B��6��O1#C'�4N�?$�%61�%R N AP1�%5��%B��6��O1#C' �%5��%B��6��O1#C' 30,000       30,000     30,000      %O1$'4�1��O1#C' �O1#C'�4N�?$�%61�%R 2�.

�4N�?$�%61�%RQ/ON�O� �4N�?$�%61�%R�?'4 1 �?PR�O%5��6%�%5� �1�N�0�6'N�O� (�6��4N�?$� 3)

�T��B�5� ค%5Q� �%B� �T��B�5�

2 0C�$R�O1#C'�N6/26%O'4 5��6%4�� N AP1 5��6%4���O1#C'26%  - �5��O6��Bค'6�% 98,880       -          -           �U6�/��CO#6Q�O #?0C�$R�O1#C'�N6/26% 2�.

26%2�N�0Q�N�0�6'�U6�'%N1� >�C'$R 2�N�0Q/O24�/�%/�N%O/ 1 ค� N AP1ค/�คB#�CO' �%>�6%0C�$R�O1#C' O'4%4��26%2�N�0 (�6��B%�6%)

�5��5�N/�B�6%�R�T��B�5� �%/�21� O�OR��T�/6 �N6/26% 3 �?P�5�2#5$ #?�%42>��>

�%4�6��O'4�CON�?P$/�O1� O'4 5��6%4���O1#C' "6   N�O�O/'N�O'�

R�OQ�O�%>�6%0C�$R�O1#C'�N6/ �N6/26%Q/ON�>��'25#&��>T N�'?P$��O1#C'�N6/26%

26%R�O1$N6�#?�%42>��>"6  - �5�/6 �>��5Q�/52�B1B� 12,000       15,000     15,000      

O'4N�>��N1��6�Q/O�%4�6 �%�R %O1#�CO'%5�16 

��R�OO2��ค/6#ค>�N/O� �%5��%B��N1#O�#Q/O1$CN

1$N6�N2%? Q�2"6 �?

1
0
8

#?P Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI) (ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&



2558 2559 2560

(&2#) (&2#) (&2#)

3 �5��6�/5�N�0�6' N AP12%O6��/5��U6'5�Q�O�N  - �%4�6��Q��O1��>P� 20,000       20,000     20,000      �U6�/��%4�6�� �Bค'6�%#?�/5��U6'5�Q� 2�.

�Bค'6�%�1�N�0�6' 2%O6��%4/�5��@����6�O'4 �CON�O6%N/#�>��%%# Q��6%��>�5�>�6� �%4 (�6��B%�6%)

ค/6#25# 5��R15��?%4//N6� ค/6#2U6ค5��1��6%�� �6��#?2N/�%N/#O'4

N�0�6'�5��%4�6�� O'4ค%1�2N/��O1��>P�Q�%C� N/O�ค/6#2U6ค5��1�

2%O6�ค/6#26#5คค?Q��O1� O��N�0�6'O'4N�O6#6#? N�0�6'

�>P� 2N/�%N/#Q��6% 5��6R�O

4 N�0�6' ��%4�6�� 1. N AP1Q/O�%4�6��#?2N/� �%4�6��R�O#?2N/�%N/# 100,000     -          -           �U6�/��%4�6�� �%4�6��R�O%5��%6� 2�.

%N/#O2��ค/6#ค>�N/O�O'4Q��6%�%>/6%�O6�N#A1� �CON�O6%N/#�>��%%# �P$�6$O'4�>0�6� (�6��B%�6%)

N2�1�T�/6�N6� N �6%�%>/6%�1��O1��>P�

2. N AP1Q/O�CO�%>/6%�%6��O1

#C'�T�/6N AP1�U6R�O�OR�

5 �>��6#O'4�%4N#>��'O���6�/Pค%��6% N AP1Q/O�6%�>��6# 3 %4�� �O6�N/#6�%>�6%N�O6/�O6�?P 100,000     100,000    100,000     �6%�5��@��O1#C' %4��e-plan�1�N�0�6' 2�.

e-plan O'4%4��#A1#?ค/6#�U6�/� 1 %6$ ��>�5�>�6� R�O�5��6#�U6/�� #?ค/6#�C��O1� O'4 (�6�/>Nค%64/R3)

�C��O1� �N6N�AP1�A1 �6#Pค%��6% N/'6 N2%O��6#�U6/��

6 1B�/�B��6%��>�5�>�6��1�0C�$R�O1#C' N AP1Q/O�6%��>�5�>�6��1� 2�5�2�B����%4#6� 20,000       -          -           ค/6# @� 1Q��1�0C�$R�O1#C'�N6/26%�1� 2�.

�N6/26%1.%N1� >�C'$R 0C�$R�O1#C'�N6/26%1U6N"1 O�N1��.%N1� >�C'$RQ� (��N�>�1B�/�B�) �COQ�O�%>�6%0C�$R3 1.%N1� >�C'$R#?�%42>��> (�6��B%�6%)

%N1� >�C'$R #?�%42>��>"6 �6%�U6N�>��6%�1�0C�$R3 "6 #6��@Q�

1
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9

#?P Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI) (ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&
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(&2#) (&2#) (&2#)

7 �%4�625# 5��R�6��1�N�0�6' N AP1N�$O %N �%4�625# 5��R N�$O %N�%4�625# 5��R 220,000     220,000    220,000     ค/6# @� 1Q� N >P#�N1��6��6%%5�%CO 2�.

�U6�'%N1� >�C'$R �'�6%�U6N�>��6��1� �O1#C'�?PN�O��%4P$��R �1��%4�6�� �O1#C'�N6/26%O�N�%4 (�6���2.)

N�0�6'R�2CN�%4�6�� �N6�N2CN�%4�6���N6�ค'AP� Q� AQ��?P �6��Q�N��N�0�6'

�B�"6ค2N/� />�$B/�O6�N/#6�Bค'6�%

��>�5�>�6��%4�625# 5��R

8 �%4�625# 5��RO'4�%5��O1#C'O���?P N AP1�%4�BO��CO�U6%4"61?Q/O �5��U62AP1�%4�625# 5��R 250,000     250,000    250,000     %O1$'4�1�%6$R�O %6$R�O�6�6%�5�N�O� �1�ค'5�
"61?O'4�4N�?$��%5 $R2>� �%4/�5�O'4N�O#Q��U6%4 �%5��O1#C'O���?P"61?Q/O �6��6%�5�N�O��?P N >P#�@Q�%O1$'4 7�6��?

"61? �%4�/��6%�5�N�O� N�O��T��B�5�O'4�O6�N/#6 N >P#�@Q� �?P�N6�#6

"61?#?�%42>��>"6 #6��@Q� �Bค'6�%�N/$�6��5��'N6/

9 /5��O1��>P�R�$ N AP1%N/#%U6'@�Q� %4#/6�%B�6 �5�/%N/#�>��%%# 10,000       -          -           �U6�/��CON�O6%N/# N�>��/5��U6'5�Q�Q��6% 2�.

�>คB��1� %4�6�2#N�O� /5��O1��>P�R�$ 18 �>��%%# �5��%>�6%26�6%�4Q/O (�6��B%�6%)

 %4�B'�1#N�'O6 3 �?P#?  #?�6ค# �1��B��? �%4�6��O'42N�N2%>#

�N1�6%��ค%1��O1��>P� %4�1��%4�6�>�R�$

R�$
10 2�5�2�B�2N�N2%>#�>��%%#�6#/�5�2A1 N AP1Q/O26#6%��U6N�>��U6N�>��>��%%# 10,000       -          -           �U6�/�Pค%��6% 26#6%�2�1��P$ 2�.

25P��6%�1��5�//5�O'4�%#2N�N2%># 3 �>��%%#�6#/�5�2A1 �6#�?PR�O%5�/�5�2A1 �?PR�O�U6N�>��6% �6$�1��5�//5�/ (�6��B%�6%)

25P��6%3 R�O 25P��6% 3 %5��6'R�O
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11 �5��AQ1ค%B"5��R$6� 6/�4O'4��2N� N AP1Q�OQ��6%��>�5�>"6%�>�  - �5��AQ1%�$��R�5P�2N/� 1,400,000 -          -           ค/6# @� 1Q��1�#?/52�B1B��%�R�?PN ?$� 1 2U6�5��'5� 3

�1�2U6�5��'5�N�0�6' �1�N�0�6'�U6�' �'6� P�$N�O�%�$��R�5P� N�O6/�O6�?P�CO��>�5�> 24�/�Q��6%��>�5�>�6� (�6��B%�6%)

%N1� >�C'$R ��>� 7 �?P�5P� �5�Nค'AP1� �6� (�6��C1��5�3)

4 'O1 �U6�/� 1 ค5�

- %��5�N '>� 1 ค5� 5,200,000 -          -           

12 �5��AQ1Nค%AP1�N2?$��%4�U6%��%%�B��$4 N AP1Q�OQ��6%�%4�625# 5��R�O1 �5��AQ1Nค%AP1�N2?$� %O1# 10,000 10,000     10,000      ค/6# @� 1Q��1��6%��>�5�>�6�#?ค/6# �1�26�6%�2B�

/#6$N'��4N�?$� 81-2806 �0 #C'�N6/26%R�O1$N6��5P/�@�Q��N/� �>��5Q� �U6�/� 1 �B� N�O6/�O6�?P�CO��>�5�> 24�/�O'4N�>��%4 O'42>P�O/�'O1#

&�C%4�6��1�P%ค�N6� N �6� 2>��>"6 #6�$>P��@Q�

13 �5��AQ1%��%%�B��$4 N AP1Q/O�6%��>�5�>�6��1��1� �5��AQ1%��%%�B��$4O�� 4,000,000 4,000,000 4,000,000  ค/6# @� 1Q��1��6%��>�5�>�6�N�O��� �1�26�6%�2B�3

26�6%�2B�3 #?ค/6#24�/� 15��O6$�5��$4�O/$%4�� N�O6/�O6�?P�CO��>�5�> �$4#?�%42>��>"6 

ค'N1��5/#6��@Q� R2�%1'>คค/6#�BR#N�O1$ �6� #6��@Q�
�/N6 6 '�.#. 6 'O1

 �?N�' �U6�/� 1 ค5�

14 �5��AQ1Nค%AP1� N�/#1�ค/5� N AP1Q�OQ��6%�?� N� �5��AQ1Nค%AP1� N� 100,000     100,000    100,000     �U6�/��CO�B/$ �%4�6���'1� �1�26�6%�2B�3

'C��QU6$B�'6$�@P�N�O� /#1�ค/5� 1 Nค%AP1� P%คR�ON'A1�11� �6�P%คR�ON'A1�11�
�N1N�>��1�P%คR�O
N'A1�11�
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15 �5��AQ1ค%B"5��RNค%AP1��5�/�O6 N AP1Q/O�6%��>�5�>�6��5�  - �5��AQ1Nค%AP1��5�/�O6 100,000 100,000    100,000     ค/6# @� 1Q��1��6%��>�5�>�6�#?ค/6# �1�26�6%�2B�3

/�O6 �6#2�6��?P�N6� N ��>�24 6$ �U6�/� N�O6/�O6�?P�CO��>�5�> 24�/�O'4N�>��%42>��>

#?�%42>��>"6 #6��@Q� 8 Nค%AP1� �6� "6 #6�$>P��@Q�

16 �5��AQ1Nค%AP1�15��?�O%��QU6 N AP1Q�OQ��6%�?�'O6��U6 �5��AQ1Nค%AP1�15��?� 5,000 5,000       5,000        ค/6# @� 1Q��1��6%��>�5�>�6�#?ค/6# �1�26�6%�2B�3

ค/6#2416�%��%%�B� O%��QU6 �U6�/� 1 N�O6/�O6�?P�CO��>�5�> 24�/�O'4N�>��%42>��>

�$4 %��5�/�O6�B�/'5� Nค%AP1� �6� "6 #6�$>P��@Q�

3'3 �1��1�26�6%�2B� 3

17 �5��AQ1Nค%AP1�15��6%�? N AP1Q�O2U6/%5�15��6%�?Q/O �5��AQ1Nค%AP1�15��6%�? 10,000 10,000     10,000      ค/6# @� 1Q��1��6%��>�5�>�6�#?ค/6# �1�26�6%�2B�3

�5�%��%%�B��$4 %��5� �U6�/� 1 Nค%AP1� N�O6/�O6�?P�CO��>�5�> 24�/�O'4N�>��%42>��>

/�O6�B�/'5� 3'3 �1� �6� "6 #6�$>P��@Q�

�1�26�6%�2B� 3

18 �5��AQ1�CON$O� N AP1Q�O�5�N�O�$6O'4 �5��AQ1�CON$O� 2 �%4�C 20,000 -          -           16$B�6%Q�O�6� �6%��>�5�>�6�#?ค/6# �1�26�6%�2B�3

/5ค�?��N6�N �1��1� ��6�R#N�PU6�/N6 8 ค>/ �1�/5ค�?� O'4 24�/�O'4N�>��%42>��>

26�6%�2B� 3 �U6�/� 1 Nค%AP1� $6�N6� N "6 #6�$>P��@Q�
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19 �5��AQ1�'O1��N6$%C��>�>�1' N AP1Q�OQ��6%��>�5�>�6� �5��AQ1�'O1��N6$%C� 10,000 -          -           ค/6# @� 1Q��1��6%��>�5�>�6�#?ค/6# �1�26�6%�2B�3
N�O�"6 �N6$�6� >�?�6% %4���>�>�1' N�O6/�O6�?P�CO��>�5�> 24�/�O'4N�>��%42>��>

Pค%��6%�N6� N �6��5� �U6�/� 1 �5/ �6� "6 #6�$>P��@Q�

N�O��$4#C'�1$O'4

�>��%%#1AP�NQ�ค/6#

%5��>��1��1��1�2�.

N AP1Q�OQ��6%�5��@�"6 �5��AQ1�'O1��N6$%C� 20,000 -          -           ค/6# @� 1Q��1��6%��>�5�>�6�#?ค/6# 2�.

�6%�CO"5$ "6 N/�B�6%�R %4���>�>�1' N�O6/�O6�?P�CO��>�5�> 24�/�O'4N�>��%42>��> (�6��C1��5�3)

"5$ >�5�>�N6� N Q�ค/6# �U6�/� 1 �5/ �6� "6 #6�$>P��@Q�

%5��>��1��1��6��C1�

�5�O'4�%%N�6 3

N AP1Q�OQ��6%�5��@�"6 �5��AQ1�'O1��N6$%C� 35,000 -          -           ค/6# @� 1Q��1��6%��>�5�>�6�#?ค/6# 2�.

�>��%%#�N6�NQ�ค/6# %4���>�>�1' N�O6/�O6�?P�CO��>�5�> 24�/�O'4N�>��%42>��> (�6��B%�6%)

%5��>��1��1�2�. �U6�/� 1 �5/ �6� "6 #6�$>P��@Q�

N AP1Q�O�5��@�"6 �6� �5��AQ1�'O1��N6$%C� 20,000       -          -           ค/6# @� 1Q��1��6%��>�5�>�6�#?ค/6# �1��N6�
"6ค2�6#Q�ค/6#%5� %4���>�>�1' N�O6/�O6�?P�CO��>�5�> 24�/�O'4N�>��%42>��>

�>��1��1��1��N6� �U6�/� 1 �5/ �6� "6 #6�$>P��@Q�
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20 �5��AQ1Q�#?�N2%>#�BO��?S/�O6 N AP1Q�ON�'?P$��5�Q�#?� �5��AQ1Q�#?�N2%>#�BO��?S 30,000 -          -           ค/6# @� 1Q��1��6%��>�5�>�6�#?ค/6# �1��N6�
N�># /�O6 ��>� 2 /�O6 N�O6/�O6�?P�CO��>�5�> 24�/�O'4N�>��%42>��>

2U6/%5�Q�O�5�%��5� �6� "6 #6�$>P��@Q�

/�O6�B�/'5�
21 �5��AQ1คC'N'1%R�QU6%O1� N AP1Q�OQ��6%��>�5�>�6� �5��AQ1คC'N'1%R�QU6%O1� 10,000 -          -           ค/6# @� 1Q��1��6%��>�5�>�6�#?ค/6# 2�.

N'?Q$�%5�%1� �6%�%4�B# �U6�/� 1 Nค%AP1� N�O6/�O6�?P�CO��>�5�> 24�/�O'4N�>��%42>��> (�6��B%�6%)

�N6� N ��O���1�N�N6 �6� "6 #6�$>P��@Q�

N�AP1��6��U6%B�
22 �5��AQ1�CON�O�N1�26% N AP1Q�OQ��6%�5�N�O�N1� �5��AQ1�CON�O�N1�26% 12,000 -          -           ค/6# @� 1Q��1��6%��>�5�>�6�#?ค/6# 2�.

26%�1��6��C1��5�3 �U6�/� 2 �CO �5��?Q N�O6/�O6�?P�CO��>�5�> 24�/�O'4N�>��%42>��> (�6��C1��5�3)

 - ��>�2�6� 1 �CO �6� "6 #6�$>P��@Q�

 - ��>� 4 '>Q��5� 1 �CO

23 �5��AQ1�B�P�P4%5�O�� N AP1Q�O%5�%1��CO#6�>��N1 �5��AQ1�B�P�P4%5�O�� 15,000 -          -           ค/6# @� 1Q��1��6%��>�5�>�6�#?ค/6# 2�.

%6��6% � 2U6�5��6� �U6�/� 1 �B� N�O6/�O6�?P�CO��>�5�> 24�/�O'4N�>��%42>��> (�6��C1��5�3)

�C1��5� 3 �6� "6 #6�$>P��@Q�
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24 �5��AQ1Nค%AP1� ># Rค1# >/N�1%R N AP1Q�OQ��6%��>�5�>�6� �5��AQ1Nค%AP1� ># Rค1# 18,000 -          -           ค/6# @� 1Q��1��6%��>�5�>�6�#?ค/6# 2�.

�1��6��C1��5�3 N�N�  >/N�1%R��>�N'N�1%R N�O6/�O6�?P�CO��>�5�> 24�/�O'4N�>��%42>��> (�6��C1��5�3)

 ># R"6 �6%N�>�"5$ LED2?O��Network �6� "6 #6�$>P��@Q�

�6%�CO"5$�N6�N �U6�/� 1 Nค%AP1�
N AP1Q�OQ��6%��>�5�>�6� �5��AQ1Nค%AP1� ># Rค1# 18,000 -          -           ค/6# @� 1Q��1��6%��>�5�>�6�#?ค/6# �1�ค'5�
�1��1�ค'5� N�N�  ># R  >/N�1%R��>�N'N�1%R N�O6/�O6�?P�CO��>�5�> 24�/�O'4N�>��%42>��>

"6 �N6$�%4�1��?�6 LED2?O��Network �6� "6 #6�$>P��@Q�

N�>��N6$N�>��1�N�0�6' �U6�/� 1 Nค%AP1�
Nค%AP1� ># R��>�N'N�1%R 25,000 -          -           ค/6# @� 1Q��1��6%��>�5�>�6�#?ค/6# �1��N6�
multifunction LED N�O6/�O6�?P�CO��>�5�> 24�/�O'4N�>��%42>��>

2? A3/A4 1 Nค%AP1� �6� "6 #6�$>P��@Q�

25 �5��AQ1Nค%AP1�ค1# >/N�1%R2U6/%5��6� N AP1Q�OQ��6%��>�5�>�6� �5��AQ1Nค%AP1�ค1# >/N�1%R 42,000 -          -           ค/6# @� 1Q��1��6%��>�5�>�6�#?ค/6# 2�.

2U6�5��6� 2U6�5��6���O��Nค%AP1� 2U6/%5��6�2U6�5��6� N�O6/�O6�?P�CO��>�5�> 24�/�O'4N�>��%42>��> (�6��C1��5�3)

N�N6�?P#?16$B�6%Q�O�6� �U6�/� 3 Nค%AP1� �6� "6 #6�$>P��@Q� (�6��%4�625# 5��R)

�6�/%A1N2AP1#2"6 ��6�/�O6�1R#N�O1$�/N6 �1�26�6%�2B�3
�1��1�26�6%�2B�3 18 �>Q/ คB�'5�1�4 AQ��6�

�6���2.O'4�6��C1��5�3 �6#N���R�%4�%/�ICT
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26 �N12%O6�/1�%4�B#2U6�5��6�N�0 N AP1Q�ON�O�2�6��?PQ��6% �N12%O6�16ค6%ค.2.'. -              3,500,000 -           ค/6# @� 1Q��1�N�O6/�O6�?P/�%4�6��R�O%5� �1��N6�

�6'�U6�'%N1� >�C'$R (/'5�Q/#N) �%4�B#1�%#O'4�5���6 �5Q�N�?$/ �/O6� 20.00 #. N�O6/�O6�?P�CO��>�5�> ค/6#24�/�Q��6%N�O6

/#CN�?P 13 �.%N1� >�C'$R �6%2U6/%5�N�O� N$6/��  $6/29.00 #. �6� %N/#�%4�B#-1�%#

O'4�%4�6��

27 Pค%��6%�%5��%B�"C#>�50�R0C�$R 5��6 N AP1Q/O0 �.#?2"6 �%5�"C#>�50�RP�$ 20,000       20,000     20,000      %O1$'4�1�N�O6/�O6 0 �.#?2"6 "C#> �1��6%0@�16
N�O�N'O� "C#>�50�R2/$�6#N1AQ1 %1�0 �.3 �?P�%4�U60 �.�?P �50�R2/$�6#�@��C�

�N1�6%N%?$�%CO�N6� N  @� 1Q�/'5��%5�3 Q/ON�O�1$6�#6N%?$�
28 �5�/6ค%B"5��R2U6/%5��>��5Q� � 2U6�5��6� N AP11U6�/$ค/6#24�/� �5�/6ค%B"5��R�N6�N N�N� 7,098,346.37    -          -           ค/6# @� 1Q��1� N�O6/�O6�?PO'4�%4�6 �B�/�N/$�6�

N�0�6' (O/N�Q/#N) Q��6%��>�5�>�6��1� Nค%AP1��%5�16�60 �CO N�O6/�O6�?P�CO��>�5�> ���CO#6�>��N1%6��6%

N�O6/�O6�?P�B�/�N/$�6� P�P4 P�!6 N�O61?Q 3'3 �6� R�O%5�ค/6#24�/�

29 �N12%O6�%5Q/ �%4�C 2U6�5��6�N�0�6' N AP1N�O�%5�16O'4�C1��5� �N12%O6�%5Q/�%4�C16ค6% -              350,000    -           ค/6# @� 1Q��1� �C1��5�O'4%5�16 �1��N6�

�U6�'%N1� >�C'$R /#CN 13 �%5 $R2>��1��6�%6��6% 2U6�5��6�2C� 2 #. $6/ N�O6/�O6�?P�CO��>�5�> �%5 $R2>��1��6�%6�

�.%N1� >�C'$R 68 #.(/�O6-/'5�) %O1# �6� �6%

�C6$�AP12U6�5��6�2C� 2  #.

$6/ 6  #.�6#%6$�6%

O��O�'��?PN�0�6'

�U6/��

1
1
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30 �N12%O6�%5Q/ค.2.'.2U6�5��6�N�0�6' N AP1N�O�%5�16O'4�C1��5� �N12%O6�%5Q/�U6O �16ค6% -              650,000 -           ค/6# @� 1Q��1� �C1��5�O'4%5�16 �1��N6�

�U6�'%N1� >�C'$R(�O6��O6�) /#CN 13 �%5 $R2>��1��6�%6��6% 2U6�5��6�2C� 2 #. $6/ N�O6/�O6�?P�CO��>�5�> �%5 $R2>��1��6�%6�

�.%N1� >�C'$R 250 #.(�O6��O6�) �U6�/� �6� �6%

2 �O6��6#%6$�6%O��

O�'��?PN�0�6'�U6/��

31 �N12%O6����ค.2.'.�%>N/�"6$Q� N AP1Q/O�%4�6���?P#6�>��N1    �N12%O6����ค.2.'. 350,000 -          -           ค/6# @� 1Q��1� �%4�6��R�O%5� �1��N6�

2U6�5��6�N�0�6'�U6�'%N1� >�C'$R %6��6%R�O%5�ค/6#24�/� �/O6� 5.50 #./�6 0.15 N�O6/�O6�?P�CO��>�5�> ค/6#24�/�Q��6%

 /#CN 13 �.%N1� >�C'$R Q��6%25��%  #.  $6/ 250.00 #. �6� �>��N1%6��6%

32 �O6�N/#6�%5��%B�"C#>�50�R2U6�5��6� N AP1ค/6#N�O�%4N�?$� �O6�N/#6�#�>� �'C��O�R#O 3,500,000 -          -           ค/6# @� 1Q��1� #?"C#>�50�R�?P2/$�6# �1��N6�

N�0�6'�U6�'%N1� >�C'$R(/'5�Q/#N) N%?$�%O1$ 2/$�6# �5�2/� R#O�1�R#O�%4�5� N�O6/�O6�?P�CO��>�5�>
/#CN 13 �.%N1� >�C'$R �O�R#O$A��O�  �6�%4�� �6�

R!!C62�6#%6$'4N1?$�

�O1�U6/���6#O���?P

N�0�6'�U6/��

33 �$6$N��R!!C626�6%�4"6$Q�        N AP1�C1��5�15��%6$Q�N/'6     �T�N26R!  6�26$R! 1,500,000 -          -           ค/6# @� 1Q��1� �%4�6��Q� AQ��?P �1��N6�

2U6�5��6�N�0�6'N�0�6'�U6�' �'6�คA�O'4Q/O#?O2�2/N6� �>��5Q�Pค#R!26�6%�4 N�O6/�O6�?P�CO��>�5�> #?R!!C6O'4O2�2/N6�

%N1� >�C'$R /#CN 13 �.%N1� >�C'$R N ?$� 1 �6#O��O�'��1��6% �6� N ?$� 1O'4�C1��5�

R!!C62N/�"C#>"6ค 15��%6$Q�N/'6�'6�คA�

1
1
7

#?P Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI) (ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&



2558 2559 2560

(&2#) (&2#) (&2#)

34 �N12%O6����ค.2.'.�O6��>0N/�A1  N AP1Q/O�%4�6���?P#6�>� �N12%O6����ค.2.'.�/O6� 230,000  -  - ค/6# @� 1Q��1� �%4�6��Q� AQ��?P �1��N6�

�1��?P�>�N�0�6'�U6�'%N1� >�C'$R �N1%6��6%R�O%5�ค/6# 4 #. /�6 0.15 #. $6/ N�O6/�O6�?P�CO��>�5�> R�O%5�ค/6#24�/�

/#CN 13 �.%N1� >�C'$R 24�/�Q��6%25��% 123 #. �6� Q��6%25��%

35 �N12%O6�16ค6%N�O� 52�BO'4�%5 $R    N AP1N�O�%5�16 52�BO'4 �N12%O6�16ค6%ค.2.'. 3 1,200,000  -  - ค/6# @� 1Q��1� N�O�%5�16 52�BO'4 �1��N6�

2>� N�0�6'�U6�'%N1� >�C'$R �%5 $R2>��1��6�%6��6% �5Q� �/O6� 8 #. $6/ 20 N�O6/�O6�?P�CO��>�5�> �%5 $R2>��1��6�

/#CN 13 �.%N1� >�C'$R #. �6� %6��6%

36 �N12%O6�P%��1�%�2U6�5��6�     N AP1N�O�%5�16�%5 $R2>��N12%O6�P%��1�%��/O6� 6 250,000  -  - ค/6# @� 1Q��1� N�O�%5�16�%5 $R2>� �1��N6�

N�0�6'�U6�'%N1� >�C'$R /#CN 13 �1��6�%6��6% #. $6/20 #.   1 /'5� N�O6/�O6�?P�CO��>�5�> �1��6�%6��6%

�.%N1� >�C'$R �6#%6$�6% O��O�'� �6�
�?PN�0�6'�U6/��

37 �N12%O6�'6��1�%�O12!T'�R�>� 2U6�5��6�    N AP1Q�O�1�%�O'4N�O�      �N12%O6�'6��1�%� 300,000 -           - ค/6# @� 1Q��1� �%4�6��R�O%5� �1��N6�

N�0�6'�U6�'%N1� >�C'$R /#CN 13 %5�16�%5 $R2>��1��6� O12!T'�R�>�ค1��%?� N�O6/�O6�?P�CO��>�5�> ค/6#24�/�Q��6%

�.%N1� >�C'$R %6��6% �/O6� 20 #.$6/ 30 #. �6�O'4�%4�6�� �>��N1%6��6%

/�60.05 #. Q� AQ��?P

1
1
8

#?P Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI) (ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&



5.2 O%/#2�2/O2��>!2 2%@�Oล0*1�%2�? ค/2-22-2/"�1�&Bคล2�/

2558 2559 2560

(&2#) (&2#) (&2#)

1 �@�1�%#O'40@�16�C�6�N AP1 5��6O'4 N AP1N�>�P'��50�R N >P#�%4  - �5�1�%# �U6�/� 1 ค%5Q� 400,000 400,000 400,000 %O1$'4�1��CON�O6%N/# ค�4�CO�%>/6% 2�. �5� 2U6�5��'5� 3

N >P#�%42>��>"6 Q��6%��>�5�>�6��1� 2>��>"6 �6%��>�5�>�6��1�  - 0@�16�C�6� �U6�/�  1 1�%#�?PR�O%5�ค/6#%CO �6�O'4'C��O6�26#6%� (�6��6%N�O6/�O6�?P)

�Bค'6�%�1�N�0�6' ค�4�CO�%>/6% 2�.  �5��6� ค%5Q� N >P#�@Q� �U62>P��?PR�O�6��6%%N/#

O'4'C��O6� Pค%��6%#6 5��6�%4

2>��>"6 �6%��>�5�>�6�

2 #1�%6�/5' �5��6�O'4'C��O6��?N�N� N AP12%O6��/5� �U6'5�Q� Q�  - #1��%4�60N�?$%�>คB� 12,000 12,000 12,000 ค/6# @� 1Q��1�  �5��6�,'C��O6��1� 2U6�5��'5� 3

�6%��>�5�>/�O6�?PO�N �5� /%A1�1��/5��1�%6�/5' N�O6/�O6�?P�CO��>�5�> N�0�6'#?�/5��U6'5�Q� (�6��6%N�O6/�O6�?P)

�6� O'4'C��O6��CO#?�'�6� O�N �5��6�O'4'C��O6� �6� Q��6%��>�5�>/�O6�?PO'4

�?N�N� �CO#?�'�6��?N�N� N�>�ค/6#��%5�"5��?�N1

1�คR�%

3 1�%##6�%�6��6�คB��%%# �%>$�%%# N AP1Q/O�CON�O6%N/#Pค%��6%  - �CON�O6%N/#Pค%��6%N�>� 10,000 10,000 10,000 ค/6# @� 1Q��1� 1�คR�%#?�Bค'6�%�?P#? 2U6�5��'5� 3

O�N �5��6�O'4'C��O6��1�N�0�6' �%4/�5�O'426#6%��U6 �>�2U6�@� N�O6Q�Q�/'5� N�O6/�O6�?P�CO��>�5�> O�/ค/6#ค>��?P�C��?Pค/% (�6��6%N�O6/�O6�?P)

คB��%%# �%>$�%%##6Q�OQ�คB��%%#O'4�5Q�Q��4�U6 �6� N/#642#15��4�U6#6�@P�

�6%��>�5�>�6� #6Q�OQ��6%��>�5�>�6� �%42>��>"6 �1��6�

1
1
9

#?P Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI) (ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&



5.3 O%/#2�2N�N2/>-�/0&/%�2/-?2N/%/N/-#2��2/N-A1��2/&/>/2/!2-/0&1&'/0ช2$>'R!.

2558 2559 2560

(&2#) (&2#) (&2#)

1 N'A1��5Q�2#6�>�2"6�O1��>P�O'4�CO�%>/6% N AP1Q/O�6%�U6N�>��6%N'A1�  - �5�Q/O#?�6%N'A1��5Q� 700,000 300,000 300,000 �U6�/�2�.O'4 #?2�.O'4�CO�%>/6%�?P#? 2U6�5��'5� 3

�O1��>P� �5Q�2�.O'4�CO�%>/6%N�0�6'2�.O'4�CO�%>/6% �CO�%>/6%�?PR�O คB�"6 �%��6#ค/6# (�6��B%�6%)

N�O�R��6#��/#6$%4N�?$� �O1��6%�1��%4�6��

%4N�?$� �O1�U6/���N6� N 

N�?P$/�5��6%N'A1��5Q� 5��6

%4���6%��ค%1�O���%4

�6�>�R�$ O'4�%4�BO�Q/O

�%4�6��11�R�Q�O2>��>

2 �5��%4�B#�%4�6ค#N#A1�%N1� >�C'$R N AP1Q/ON�>��%4�/��6%#?  - �5�Q/O#?�6%�%4�B#�%4 20,000 20,000 20,000 �U6�/�Pค%��6% N�0�6'#?O�� 5��6�?P 2U6�5��'5� 3

N AP1�5��U6O�� 5��6N�0�6' 2N/�%N/# 2N�N2%>#%4�1� �6ค#�6#�%4�/��6%�5� �?PR�O�6��6%�%4�6 #?คB�"6  �%4�6��#? (�6�/>Nค%64/R 3)

�%4�6�>�R�$Q��O1��>P� �U6O���6#%4N�?$� 3 ค#O'4R�O�%%�BN�O6 2N/�%N/#Q��%4�/�

O'4Q/OO�� 5��6�1� �?'4 1 ค%5Q� O'4�5��U6 O�� 5��626#�? �6%�5��U6O�� 5��6

2�1�ค/6#�O1��6%�1� O�� 5��6N�0�6'�N6�N �1�N�0�6'

�%4�6��R�O1$N6�O�O�%>�

3 2N�N2%>#2�5�2�B��%4�/��6%�5��U6 N AP1Q/O�%4�6��Q��B#��  - �5��%4�B#�B#��Q� 60,000 60,000 60,000 �U6�/�Pค%��6%�?PR�O N�0�6'26#6%��U6�T�/6 2U6�5��'5� 3

O���B#�� #?2N/�%N/#Q��6% 5��6 N��N�0�6' N AP1�5��U6 �6��6%�U6O���B#�� ค/6#�O1��6%�1��B#��2CN�%4(�6� 5��6�B#��)

�O1��>P� O���B#�� �?'4 1 ค%5Q� �/��6%/6�O�� 5��6

1
2
0

#?P Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI) (ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&



2558 2559 2560

(&2#) (&2#) (&2#)

4 2U6%/�O'4�5�N�O��O1#C' AQ��6��1�1��. N AP1Q/O#?�O1#C'2U6/%5�Q�O  - �O6�2U6%/�O'4�5� 30,000 30,000 30,000 %O1$'4�1�ค%5/N%A1� 26#6%�Q�ON�O��O1#C' AQ� 2U6�5��'5� 3

Q��6%�5��U6O�� 5��6 N�O��O1#C' 3 �?'4 �?PR�O�5�N�O��O1#C' �6�Q��6%/6�O�� (�6� 5��6�B#��)

N�0�6'  1 ค%5Q�  AQ��6� 3  5��6�O1��>P�

5 N'A1��5Q�ค�4�%%#�6%�B#��O'4�@�1�%# N AP12N�N2%>#�%4�/� �5�Q/O#?�6%N'A1��5Q� 70,000 70,000     -           �U6�/�ค�4�%%# N�>��6%#?2N/�%N/#�6# 2U6�5��'5� 3

ค�4�%%#�6%�B#�� �6%�%4�6ค#�6#%4 ค�4�%%#�6%�B#�� �6%�B#���?PR�O%5� %4�1��%4�6�>R�$Q� (�6� 5��6�B#��)

�1��%4�6�>�R�$ O'4�5��@�1�%#ค�4 �6%N'A1��5Q� �B#��

�%%#�6%�B#��

1
2
1

#?P Pค/��2//�>��//- /1!"B'/02�ค์
N'O2/-2. ((ล(ล>!

�1�Pค/��2/)

�&'/0-2�Oล0#?P-2

!1/ช?Q/1   (KPI) (ล#?Pค2 /N2�0R O/1&
/%N/.�2%#?P
/1&(> ช1&
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/1&(> ช1&
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